GENERAL SCIENCE — CHEMISTRY/ACID, BASE AND SALT

1. An acid is a substance which-
3T+ T QT uerd g -

a) Donates a proton/ U& Wl & aRdT &

b) Accepts an electron/ Seag WHR AT &
c) Give H" in water / S & H* aaT &

d) Al of these/ T I+t

pH a.nd pOH scale

increasing acidity

decreasing [H*]  _ neutl'ﬂ _ decreasing [OH]

increasing basicity

pH =-log [H*]

pOH = —log [OH]

ACID/ 31t

The Arrhenius theory of acids states that “an acid generates H" ions in a solution”./uf8E &
srefTe fgia & ®er T ¢ & "Ue Ufls Ue Ol § H+ 309 3cqd Rt 8|

The Bronsted-Lowry theory defines “an acid as a proton donor”./sRes-@R fAgid "ts Ue=
SR & ¥ § UF URAS" & aRvTid ST 2|

Finally, the Lewis definition of acids describes “acids as electron-pair acceptors”./3id #, Tffig
H eu gRuTeT "TfAE P TaqeH-grH Wiedi” & ¥ § ftid T 2l

Acidic substances are usually identified by their sour taste./3T T Teraf & Tga™ SMHAR W
3 Wg w@Ie A el 8|

Acids are known to turn blue litmus red./3r et felend & @Td B & fw I I 2

Properties of Acids/3F & T[0T

Acids are corrosive in nature./37 Upfa # &R &9 &

They are good conductors of electricity./& fag[d & garas g1d &l

Their pH values are always less than 7./3%T dIUg B9 §HIT 7 & SH 8147 81

When reacted with metals, these substances produce hydrogen gas./grqaii & Ty rfAfesar
A R A gard gregiod 19 30d a2

Acids are sour in taste./37 WTg # WS € 2

Examples: Sulfuric acid [H.SO.], Hydrochloric acid [HCL], Acetic acid [CH;COOH]./3cTexur:
TegRke Ufag [H2504], gegiawiia ufas [HCL], vfafes ufag [CH3COOH]|
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2. A base is a substance which -
&R U garef & ST -

a) Donates electrons/ Saaei- & &Rl &

b) Accepts proton/ Weld THR AT 2

c) Gives OH ions in water / O & OH- 3ma9 a1 &
d) Al of these/ T I+t

BASE / &R

The Arrhenius theory of bases states that “a base produces an OH ion in its solution”./ &RT
& refoT RAgia & ogT T § & "I &R 379 IaTg™ 8§ Udh OH- 3109 30 axdT 8" |

The Bronsted-Lowry theory defines “a base as a proton acceptor”./sies-aR gid "ts
TIe Wiehal & ¥ H TP &R " $I IRITT T 2

Finally, the Lewis definition of bases describes “bases as electron-pair donors”./3id #, &gy
6 TSI TRITHT "SATE-S1eT STarait & F7 # &R " &7 guia o=t 2]

Bases are characterized by a bitter taste and a slippery texture. /&R U& &gdT WIg 3R UH
et vTae &Y fagar 2

Properties of Bases/&Ri & U1

® They are found to have a soapy texture when touched. /Taf F= W I H1g HI g1 TS
STt 81

® Bases are known to turn red litmus blue. /&RI & @ faiedd & T T & faT JET ATAT B

® These substances release hydroxide ions (OH™ ions) when dissolved in water. /& geref ur-t &
ol IR gI83IaATes M (OH- 3mae) Bisd &

® In their aqueous solutions, bases act as good conductors of electricity. / 37& Sl O H,
&R fISTctt & 378 Hares & ¥0 # S a2 2

® The pH values corresponding to bases are always greater than 7. /&Rl & 31g%0 deg AT &AL
79 S B 2l

® Bases are bitter-tasting substances which have the ability to turn red litmus paper blue. /&R
FTI-WTE aTe Terd 1 & o aTet feiena A &Y Fier v Y grar g1t 2

® Examples: Sodium hydroxide [NaOH], milk of magnesia [Mg(OH)2], calcium hydroxide
[Ca(OH)2]./3aTeur: |ifsaw gregiarss [NaOH], #fifrar &1 gu [Mg(OH)2], SRy grssiaarss
[Ca(OH)2]1

Questions

SET -1

Q1. Strong Acids have

TS 31T E1 &
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) Higher pH value /3= it #
b) Lower pH value /&H diva 719

) Neutral pH value /dey dieg |14

d) None of these /g8 & &I &l

Lower pH number means stronger acid, higher pH number means stronger base. It can be a
little confusing, but the lower the pH of a substance is, the stronger of an acid it is.
$H HITT TAT BT A ¢ Holgd TS, 37 G0 TAT &7 Hddd Holgd &R &1 T8 1T Hiid o arer &t
ThdT B, Afee T Teref &1 o {3 &7 g1aT 8, TS 3a1 & gotgd &rar 21

Q2. Acids react with metallic oxides to form

3T YTfedas 3aaTES & ATY STfATHTT aRd a91d &

a) Salt and Carbon dioxide /A& 3TR ST STEIATFITSS
b) Sugar and Water /<t 3R ot

c) Salt and Water /70 3R urt

d) None of these /3780 I 1§ &1

Acids react with metal oxides to produce a salt and water.
3T YT & STFATEE & TTY fhaT avdb d1auT 3R STl 47T 2

Q3. pH scale has values from
pH Tl T AT A €T ?

a) oto7

b) 0to14

) 1to14

d) None of these /3780 I 1§ &1

Environmental Effects | pH Value | Examples

ACIDIC CEELV  Battery acid

CLERIN  Sulfuric acid
LGP Lemon juice, Vinegar
Orange juice, Scda
Allfishdie (4.2) pH=4 Acidrain (4.2-4.4)
Acidic lake (4.5)
Frog eggs, tadpoles, crayfish, . Bananas (5.0-5.3)
and mayflies die (5.5) PH= Clean rain (5.6)
NEUTRAL Rainbow trout Healthy lake (6.5)
begin to die (6.0) Milk (6.5-6.8)
CURRM FPure water
Sea water, Eggs
Baking soda
Milk of Magnesia
Ammonia
Soapy water
Bleach
Liquid drain cleaner

BASIC

Q4. What is the chemical formula for Bleaching powder
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SHIRIT UT3SR T AT g FT 872

a) Na2CO03

b) Ca(OCl)2

c) NaOH

d) None of these /g98 & IS &1

Bleaching Powder's chemical formula is CaOCl2 and is called Calcium Oxychloride. It is
prepared on dry slaked lime with chlorine gas.

SAIRIT UT3ER T IS g CaOCl2 & 3R T8 SR STRNGARTSS FET 1T 81 T8 P4 I8 U I |
FARM T TR fHar Srar &1

Q5. Weak acid and strong base forms
FUAGIR 3T 3R AT &R F9

a) Acidic Salt /3T @qur

b) Basic Salt /&R wqur

c) Neutral Salt /dcx «qur

d) None of these /578 & &I &1
When a weak acid reacts with a strong base the resulting solution will be basic. The salt will be
hydrolyzed to form the acid, together with the formation of the hydroxide ion from the
hydrolyzed water molecules.
IS U FHR 37 T Uolgd &R & A1T Ufafesar a=ar g dF aRumdt gt &g g1 T8sidTges Ul &
UL H ETESIRATES 3T & fATTur & Iry-91y URis 99 & Tl aiaur & gTegiaiess foar S|

Q6. Which of the following belongs to family of Sodium Salts
frafafad # @ 9 Ifsan daur & uRar & d6fa &

a) Sodium Chloride /Tif$aq T@RTSS

b) Calcium Sulphate /SfRraT The

c) Copper Sulphate /HTR Tethe

d) None of these /398 & IS &1
In Sodium chloride and sodium sulphate, sodium which is positive radical is same in both of the
salts. Thus, sodium chloride and sodium sulphate belongs to the sodium family.
Mfza FiRTes 3k Wfaw Tothe &, WA S & a9 T goiss 8, 1 wauil & TAT 811 81 39 UaR,
Hfeaw F@RTes ik Afeaw Tethe Afsaw oiar & defad 2

Q7. Universal Indicator is
gRade e &
a) Mixture of indicators such that it shows different color changes for different

concentrations of solution
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b) Mixture of colors such that it shows different color changes for different concentrations
of solution
c) Mixture of acids such that it shows different color changes for different concentrations
of solution
d) None of these
Universal indicator is a mixture of many different indicators which gives different colours at
different pH values of the entire pH scale. It is used to obtain an idea of how acidic or basic a
substance is.
gfada 3deR FE STeT- 37T Tddd! o1 Hor & N R Fog Whet & TeTT- ST Hed g1 TR 3TeTT- 37T
7 AT B | STST IUWNT TE UAT T & FAQ 5 St & 75 i uerdf fsaar sneftw ot enda

Q8. Lemon Juice is
fgara?
a) Bitter in Taste /3dTg # &sar
b) Sour in taste /¥Tg # WgT
c) Sweet in Taste /&@1e # HiaT
d) None of these /g98 & IS &1

Qo. Dilution is
TIHOT &
a) The process of mixing acid into base /3% &I &R # e Bt ufcsar
b) The process of mixing acid or base into water /3% T &R &I U1 § A &t ufhar
c) The process of mixing acid or base into indicator /3% T &R &I Hbas H @M &F ufbar
d) None of these /g98 & IS &1
Mixing an acid or base with water results in a decrease in the concentration of ions per unit
volume. Such a process is called dilution.
T & 9T 37 I &R A= O Ui $h18 3madd o SoeT & HigdT | ST 31T 8| QT ufehar & agasor
HET AT 8|

Q10. Remedy for indigestion due to excess acid is
Tfls & fAedr F SRUT EN Ao 3709 ST U &
a) Citric Acid /amsfes ufds
b) Vinegar /fR&T
¢) Magnesium Hydroxide /AUfruw gragiaaTss
d) None of these /g98 & IS &1
Aluminum Hydroxide, Magnesium Hydroxide are antacids used together to relieve heartburn,
acid indigestion, and upset stomach. They may be used to treat these symptoms in patients
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with peptic ulcer, gastritis, esophagitis, hiatal hernia, or too much acid in the stomach (gastric

hyperacidity).

TgAfaw gregiaaTss, TNfaw gregiaarss terfds € e SuahT R, s sraw 3ik Oe &Y e
B R B & T far Srar 81 Uftes stewr, egrsfed, vasMiesd, féere gffar, a1 e # 9gq sifds ufds
(e gremRufAfEE) are AMTT & 59 FU BT STl B & TAw 37T IuanT e ST IhdT 21

Q11. What is the water of crystallization for the compound Na2C0O3.10H20?
T Na2C03.10H20 & faw fseeciasor &1 T @ 872

None of these /398 & &g I8!

Q12. Acids react with carbonates and bicarbonates and result in evolution of
3T PIFAC 3R TR S 1T Ufafhar FRa & iR TRUmTRasy &1 e g a1 &
a) Oxygen Gas /3fiaftor 19

b) Hydrogen Gas /gTggiad T
c) Carbon Dioxide gas /&Ta+ STgafiawTss 1T
d) None of these /3780 I 1§ &1

Acids react with carbonates and bicarbonates to give respective salt, water and CO2 gas.
Hence, their reaction with both carbonates and bicarbonates is the same.

URE F1efe 3R e & ary ufafhar & d&fid 706, ot 3k CO2 - 24T B

TATAY, PrETIe 3R dIEPIEe SHT & 1Y ITh! Ufafehar T gidt 2

Q13. What is formed when zinc reacts with sodium hydroxide?

S foie Tfeaw gresiaarss & a1y rfAfear srar @ @ T s9ar 8?2

(a) Zinc hydroxide and sodium /fSi& gTggiaaTss 3k Ifsam

(b) Sodium zincate and hydrogen gas /difsaw fSide iR gEgiaH 19

(c) Sodium zinc-oxide and hydrogen gas /@fsaw fS& sTiaaTss 3R o i
(d) Sodium zincate and water /&@f3aH fSide 3k gt

Zinc react with excess sodium hydroxide to form sodium zincate(Na2Zn0O2) along with

hydrogen gas. Zinc is a transition metal which shows moderate reactivity.
Sie arfafer aifsay gresiaarss & Oy ufafesar &= gegior 9 & Iy T@ifsaw fSde (Na2Zn02) s9TaT
21 S ve Tepmur arq € St Ty ufafesareiierar wafefd oar 1

Q14. In terms of acidic strength, which one of the following is in the correct increasing order?
Ty Qrfeh & He #, Rafafed 3 & o a1 9é sead o d 872
(a) Water < Acetic acid < Hydrochloric acid /gt <ufafesd tfig <greglaviie uis
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(b) Water < Hydrochloric acid < Acetic acid /uT <gTgglaaiiRe Ui <ufafes ufag
(c) Acetic acid < Water < Hydrochloric acid /tfafes tig <urt <grgglawiRe ufis
(d) Hydrochloric acid < Water < Acetic acid /gTgglaaiiRe Ui <urt <ufafes ufag

Q15. Dilute acid does not produce carbon dioxide on being treated with:

] 3T T ITY IUATRA TR R FHIE SEINTITES I T8l T &

(a) Marble /TTHRWR

(b) Lime /<189

(c) Baking soda /sfd T |YsT

(d) Limestone /AT URR

Marble, Limestone and baking soda have carbonates which produces CO2 gas. Lime contains
Hydroxide which will not produce CO2. Marble, limestone, and baking soda are all metal
carbonates or bicarbonates. When they interact with a dilute acid, carbon dioxide is produced.
When lime, which is calcium oxide, combines with a dilute acid carbon dioxide is not produced.
HIS, ATEAC 3R ST HYsT § Hrafe gld & S CO2 1 9a1 d &1 I3 | gT83aTss gl & ot CO2 &l
IATEH & S| WTRWR, AT TR 3R ST Tt It T S1aiae I7 SIeaEi-e 8|1 59 3 T d 3 &
Ty RER foraT R €, @Y HTe STe3MauTEs I BiaT 81 519 AT, Y fb iRy sifeares 8, a9 s &
a1 e H1e STe3TTaTes Tél a7 2|

Q16. Which one of the given is a mineral acid?

fru U & @ -7 v @RS 3T 82

(a) Lactic acid /afaes ufds

(b) Formic acid /®ifd& vfds

(c) Tartaric acid /eTéRa Tfas

(d) Hydrochloric acid /gTegiawiRe ufag

A mineral acid is an acid derived from one or more inorganic compounds. They form hydrogen
ions and the conjugate base ions when dissolved in water. Most common mineral acids are
hydrochloric, nitric, sulfuric, and phosphoric acid.

TS WS Ul Ua a1 & T 31fas srhefe diie! & ure vflis g1ar 81 3 url # gea W gTegiorT 3maT
SR TG} SMUR 3 ST 81 TS 310 Wit TS gegiaiie, Aefed, IeigiRe 3R BiamiiRe ufis g

Q17. Which one of the given is an organic acid?
U v & A S T UF FEAD A 82

(a) Citric acid /amsfes s

(b) Hydrochloric acid /gggiawiRe Ufis

(c) Lactic acid /oifae® ufds

(d) Both (a) & (c) /@1 (w) 3R ()
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Lactic acid, acetic acid, oxalic acid, uric acid, and malic acid are some of the common examples
of organic acids.

fdes UflE, vfafes Ul siearfas v, gite ufds ok #fas viie edfae sl & oo am=
3ATERT €|

Q18. Which one of the given is incorrect?

faw 0 # ¥ 1 A1 T 272

(a) Acids turns blue litmus paper red /TUf8E Fiet foiedd TR &I AT TR AT &

(b) Aqueous solutions of acids conduct electricity /Ufi & STeiig GYd faoTe! ST HaTeld HXd &

(c) Acids react with certain metals to form hydrogen gas /T gggioM 19 s & fiv T grgsit
& Fryr ufafear exar 2

(d) None of these /398 T &g &1

Q19. Which Acid is present in Tomato?
TR W I AT 31 TTT STTT 82

(a) Citric Acid/Tsfes ufds

(b) Oxalic Acid /3tTaaTfeie Tfas

(c) Lactic Acid /atfdes Tfas

(d) HCL

Q20. pH value less than 7 indicates that the solution is -
79 &9 & pH A grfar 8 f& e & -

(a) Acidic /3T

(b) Basic /&mdT

(c) Neutral /dexx

(d) No effect /&Ig UvTd &1

Q21. Methanoic acid is normally found in:

AYNEH 3T JTHTA: TAT ST &:

a) muscles /araafrgt
) urine /9
)
)

=)

N

ant stings /=fict &1 &
human brain /A ARdsH

(=}

Q22. Brine is an

oTquilg g @

(a) aqueous solution of sodium hydroxide /Hf3TH ETEZIRATSS BT AT Tl
(b) aqueous solution of sodium carbonate /3w FIETAC T STty Gid
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(c) aqueous solution of sodium chloride /Tf$TH FARTES ST ST 1T U

(d) aqueous solution of sodium bicarbonate /HfSTH STEHTEE BT AT Tl

Q23. How many water molecules does hydrated calcium sulphate contain?

TTed¥e SR Tedhe F vy Tl & oy 8 2

(a) 5

(b) 10

()7

(d) 2

CaS04. 2H20 is called calcium sulphate dihydrate with and it has 2 molecules of water of
crystallization.

CaS04. 2H20 & HIRTTH Tehe STEETESC HET SITdT & 3R TTH foheeianur & T+ & 2 310] g &

Q24. Sodium carbonate is a basic salt because itis asalt of ______

Hifsad Fraie te gRadt s e FIfd U8 ______

(a) strong acid and strong base /Toigd TS 3R Aolgd &R

(b) weak acid and weak base /FHSIR U3 3R HHSIR &R

(c) strong acid and weak base /ASIgd TS 3R FHIR &R

(d) weak acid and strong base /FHSIR TRIE 3R Aolgd &R

Sodium hydroxide is a strong base and carbonic acid is a weak acid.

Therefore, sodium carbonate is a basic salt because it is a salt derived from a weak acid and
strong base.

TIfSUH TE3TaRITss U Uadl &R & 3R P 317l U el 3T+ 8l

safag, Wifsaw Frefie we R T9 & FifS 98 T FHR TS 3R Aol YR T UTe 760 8|

Q2s. Lactic Acid is present in-
cifded 3Tt IUfRA g 8-

(a) Orange /&H®RT

(b) Tea /=g

(c) Curd /<&t

(d) Vinegar /faR&T

Q26. Farmers neutralize the effect of Acidity on soil by adding
fraT g W TeTdT & THTT BT TSH SRR XA &

(a) Slaked Lime /Tcias «eH
(b) Gypsum /fawas

(c) Caustic Soda /&1Re® AIET
(d) Baking Soda /afd &ret
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If the soil is acidic in nature, it not only decreases the solubility of minerals but also affects the
availability of the nutrients. Thus, for converting the acidic soil into neutral soil, a small
quantity of quicklime or slaked lime solution is added. Lime is alkaline in nature, which will
neutralize the soil. While, iron sulphate, aluminium sulphate and peat are acidic in nature and
can be used to reduce the alkalinity of the soil.

e g} st Ul &t 8, @Y T8 7 Fad @iei! $t gaRficrdr 1 o0 Tt § afed 9Ive dat S Iueedr
1 off Tfad FRet 81 30 SR, sty g o aey S F uRafda o & foae, 1S o & gem gem g
T AT G AT Uled THATAT ST 81 AT Upfa # &y &, St figY 1 fAftepy o &) Siafds s dethe,
TR Fethe 3R die s Uafd & &1 & SR ST IUTHT g & T &1 &1 F & o far
STT AT 2

Q27. An acid is a compound which when dissolved in water gives ions as the only ions.

3T T AT T & ST It & goa TR ael 31 aaT 81

(a) Hydronium, negative /gTggIAud, THRIHSD

(b) Hydronium, positive /gTggIAuH, HHRTHD

(c) Peroxide, negative /GRIGATSS, IHRIHSD

(d) Peroxide, positive /SRIIATSS, HHRTHD

An acid is a compound which furnishes ions as the positively charged ions when dissolved in

water. An acid is a compound which furnishes ions as the positively charged ions when
dissolved in water.

I U A & S Ot & g R 31! & g=1afid 3ol & ¥ § TRd aRdT 8| 37 U T & i
Tt & g TR ST S eAafd st & ¥9 § wRgd IR 8

Q28. Sodium acetate when dissolved in water undergoes:
Ty weite o & gy w AT 2
a) acidic reaction /3r%ig ufafaar
b) basic reaction /&mdT ufafear
c) neutral reaction /dex ufafear
d) hydrolysis reaction /grssifaifad gfafear
Sodium acetate, when dissolved in water, undergoes hydrolysis.
Salt hydrolysis occurs when a salt of a weak acid or weak base (or both) is dissolved in water.
Water spontaneously ionizes into hydroxide anions and hydrogen cations. Sodium acetate
dissociates in water into sodium and acetate ions.
Sodium ions react very little with the hydroxide ions whereas the acetate ions combine with
hydrogen ions to produce acetic acid.
Tifeay wdfiee, 9 gt B gl SraT 8, @ gegifafi & oRdT 2
TS ETESIATTT 9 E1dT & 9 U HHSIR TS IT FHSIR SR (IT 1) FT T06 Ui & o ST 2
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g @ € gTeaTES ST 3R EESia aaTat § Smafad @) ofrar 81 SRy vt urh § afeaw ik
wfiee gt # 3TeT & ST 21

ST 3T ETESTaATES MU & TTY Igd HH UfAThaT avd & Safh THIee 3ITa gTggIo 3ITa+1 & I1g
e vfafes vfs a9 €

Q29. The basicity of acetic acid is.
ffes ot FY eRAT B

(a)1

(b) 3
(c) 2
(d) 4

Q30. An alkali which completely dissociates into ions is
TS &R St qut ¥ & St # RS &) Srar @

(a) ammonium hydroxide /3mIfATH gEgiaRATSS

(b) calcium hydroxide /SR gTggiaaTEs

(c) barium hydroxide /dftaw gregiaaTss

(d) None of the above /3Rt # & HI$ T8l

Q31. As the pH of solution decreases, its acidic strength progressively
S-SR et &7 pH TedT SITaT 8, s 3ty 21feh SRR ged! S @
(a) Increases/sgdr &

(b) Decreases /gcdT &

(c) Does not change /=& gerdT

(d) Depends on the quantity of solutions /fa@aa &t AT W fik FRar &

Q32. The metal oxide which can react with acid as well as alkali is:

¢Tq STTITSS ST 37T & TTY-T1T &R & 1y oY ufafesar &= aar &

(a) Silver Oxide /IR TfeaTSS

(b) Copper (Il) oxide /&R (fgeta) siiaATss

(c) Aluminium oxide /TcgfAfATH JTeATES

(d) Calcium Oxide /SRy 3rieATEs

The metal oxide which can react with acid as well as alkali is Aluminium oxide.
¢Tq 3TTFATES ST 3T & TTY-TTY &R & T Ufafehar o Awhar 8, Tegifgw sifeares 2l

Q33. During ionisation metals lose electrons, this change Can be called:
ST & SR 4T SAdel &I [T adl €, 37 IRad & H&T ST Il &:
(a) Oxidation /3fiatauT
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(b) Reduction /&Y
(c) Redox Rsiaa
(d) Displacement /faxamaa

During ionization metals lose electrons this change can be called Oxidation.

T & SR U1V SAde 1 T [T &t & $F IRadT BT ST IG0T HET AT AHdT 8l

Q34. An example of a complex salt is:

U SIfee iUl T U IaTeX0T &:

(a) Zinc sulphate /fS® Tethe

(b) Sodium hydrogen sulphate /Hf3TH gTEgIS Tethe

(c) Iron(Il) ammonium sulphate /3R (fgdta) srfAod Tebe
(d) Tetrammine copper(ll) sulphate /2gmTed SR (fgdiT) Tethe

Q35. The salt which in solution gives a pale green precipitate with sodium hydroxide solution
and a white precipitate with barium chloride solution is:
g€ TqUT Sl 9t U TI3TH ETSSIaATEs UTd & ATY §odhl &1 &Y T & 3R IRTH TiR1es uid & a1y
e AT T 8
( ) Iron (Ill) sulphate /3R (1) Hehe

) Iron (II) chloride /3mR+ (fgdfta) @RS
( ) Iron (Il) sulphate /3mRA (fgedT) Tehe

(1) chloride /3T (IIl) FTERTES

The salt which in solution gives a pale green precipitate with sodium hydroxide solution and a

) Iron

white precipitate with barium chloride solution is : Iron (lll) sulphate.
g€ TS I Oict O IS ETSSIaTIEs Ul & ATYT Eedhl &7 38T adT ¢ 3R IRTH FeiRTes gt & a1y
The STT&T AT 8: 3R (I11) Fedhe |

Q36. The acid which can produce carbon from cane Sugar, is
TE 31T S T Y T & e I R ISAT S, &

(a) Concentrated Hydrochloric acid /difgd gTggiaiReG Tfs
(b) Concentrated Nitric acid /&ifed Arsfes s

(c) Concentrated Sulphuric acid /&ifg¢d Tergie Tas

(d) Concentrated Acetic acid /Tifed vfafes vfds

Q37. A particular solution contains molecules and ions of the solute so it is a:
s Ay Bet & faer & arop 3R o B € sufav TE #:

(a) Weak acid /&HeiR Tfas

(b) Strong base /ASIgd &R

(c) Strong acid /g<gg UfiE
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(d) Salt solution /7H& fdaa=
A particular solution contains molecules and ions of the solute so it is a : Weak acid.

& Ay 9t # faeiy & a1 3R oo B § sufaw 78 wa R SHeiR |

Q38. Select the acid which contains four hydrogen atoms in it:
3T 3T BT 994 B fTTH IR EEgIoi AT &l

(a) Formic acid /wifie tfas

(b) Sulphuric acid /TR TfAE

(c) Nitric acid /ATsfes Tfas

(d) Acetic acid/vfafes ufds

Q39. An organic weak acid is:

TS HEAD HHSR 3+ &

(a) Formic acid /wifd® ufis

(b) Sulphuric acid /TR TfAE

(d) Hydrochloric acid /gggiawiRe Ufis
(c) Nitric acid /ATsfes Twfas

An organic weak acid is Formic acid.

T FTEME gaet STFA BITHS 3T B

Q40. Baking soda is
SfdT TrET 8
a) Bitter in Taste /&Tc # &sar
b) Sour in taste /&1 # W@gr
c) Sweet in Taste /&d1e # HiaT
d) None of these /g98 & IS &1
Baking soda (NaHCO3) is a base, hence it tastes bitter.
ST AT (NaHCO3) U &R B, STV $UHT IWTe Hal &1dT &l

Q41. For healthy human body pH value must be
WG AHF RR & o die a1+ gHr 9mfge
a) between4toe
b) between7to 7.8
c) between 10 to 12.8
d) None of these
The human body is built to naturally maintain a healthy balance of acidity and alkalinity. The
lungs and kidneys play a key role in this process. A normal blood pH level is 7.35 to 7.450n a
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scale of 0 to 14, where 0 is the most acidic and 14 is the most basic. This value can vary slightly
in either direction.

T RR WIS FT F AT 3R &MOTdT & TRY T &) §9TT a4 & fow amar mar 81 g9 ufsar o
T3 3R 1 Ayl e A €1 0 ¥ 14 & TuH W T I 76 Hed TR 7.35 F 7.45 €, S8 0 g9
i 3R 14 TSR &R B T U1 ey ofY faem & over e € v 2

Q42. Toothpaste are
Ty §

a) Acidic in nature /udfd o st

b) Basic in nature /9$fd # &R

c) Neutral in nature /Usdfd & dexg

d) None of these /g98 & IS &1
Toothpaste is a base. It is alkaline in nature.

YU Ueh &R 8| Tg UPid # &g 2|

Q43. Non-Metal oxides are
R-47q 3rfaTes €
a) Acidic in nature/usfd # rFitg
b) Basic in nature /ufd ¥ &R
c) Neutral in nature /Usfd & dexg
d) None of these /g98 & IS &1
Metallic oxides are basic and non-metallic oxides are acidic.

uTfede TTaaTee &g B1d & 3R srearfeas sfiaares seiig gl 2l

Q44. Acids react with base to form salt and water this reaction is called
3T &R & Y TATHAT I Wi 3R STeT 1T 2, 3 NAfHaT B e &

a) Displacement reaction /faxgma= ufafesar

b) Neutralisation reaction /dexaxur ufdafdar

c) Redox Reaction /RsiaT ufafear

d) None of these /g98 & IS &1
For example, when hydrochloric acid reacts with sodium hydroxide solution, sodium chloride
and water are formed. This is called as neutralisation reaction.
3CTERUT & AU, S gTesIaING 3T WfSTH gTesiaaTss faoraT & AT rfAfear avar g, @ Jfsad
FARTSS 3R U §9dT 81 30 I iaur AfAfhar sad 2|

Q45. Bases that are soluble in water are called as

STt B gotefiel eRe Fgard &
a) Alkalies /&R
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b) Indicators /dad®

c) Alkanes /gTggIaTa

d) None of these /g98 & IS &1
Soluble bases are called alkalis. Alkali is a base that dissolves in water. A solution of a soluble
base has a pH greater than 7.0.
gerefier &TRY BT &R Fed €1 &R U &R & St O & go ST €1 geraefier &R & wYel &7 pH 7.0 & arfds
BT 8l

Q46. The Substances which are formed during a chemical reaction are called
e SfAfhar & <M I aTe uard FEer 8

a) Reactants /3&RS

b) Products /3d@rer

c) Indicators /dod®

d) None of these /g98 & IS &1
The substances that go into a chemical reaction are called the reactants, and the substances
produced at the end of the reaction are known as the products.
AT SAfRfhar # S aTe gard SfWeRe Hecild & 3R AMAfHaT & 3id # & aTel gard IeaTe St
gl

Q47. Which of the following compound is used by doctors for supporting fractured bones
fm & & s 9 &7 ITaT sfaer thawr aTeft &34l o werT 3 & faw o= &

a) Plaster of Paris /&TRex 31T Ui

b) Bleaching Powder /scfif<itT ardsx

¢) Sodium Hydrogencarbonate /&f$aw grggioH SraHe

d) None of these /578 & &I T8
The name of the powder used is-Calcium sulphate hemihydrate commonly known as Plaster of
Paris and the formula of the compound is- CaSO4.
IUTNT fHY T UT3ER & ATH 8- eR1aH Tcethe gHIgTsse fod STHAR W T@ReR 31T ORI & §9 & SHT ST
2 3k 7 &1 I 8- CaSO4|

Q48. Indicators are the chemicals used to find
Thad 3§ 3 & fSFeT IugiT @ien & faw fsar smar €
a) Smell of products /3cdTal &t e
b) Color of product /3dTg &1 1T
c) Nature of Products /3cdTal & Upfa
d) None of these /g98 & IS &1
An indicator is a chemical substance that undergoes a colour change at the endpoint. The
endpoint of an acid-base titration can be determined using acid-base indicators.
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U Tdhdd U JATAS gerd & S guTa fiig W a1 gRad= & orar 81 31d-8TR SIgATa= &7 JaTd fig
37T~ §TR Tabeldhl T IUTNT dds feile {5 S ahar 21

Q49. Metals react with Acids and Bases and results in evolution of
TqY 31 3R &R & ary ufaftsar axeft & ok uRumrasy &1 fier gar @
a) Oxygen Gas /3fiafto 19
b) Hydrogen Gas /gggioM 1T
c) Carbon Dioxide gas /&Ta+ STgafiawTss 19
d) None of these /398 & IS &1

Q50. How to identify an acidic solution
STFATY UleT Y Tga HA Y

a) Litmus solution produces Red Color in Acidic solution

b) Litmus solution produces Blue Color in Acidic solution

c) Litmus solution shows no color change in Acidic solution

d) None of these
A solution's pH will be a number between 0 and 14. A solution with a pH of 7 is classified as
neutral. If the pH is lower than 7, the solution is acidic. When pH is higher than 7, the solution
is basic.
A purple or neutral litmus paper changes colour from violet to red when exposed to an acid,
and turns blue when exposed to an alkaline (or basic) environment.
U faeras &1 dieg 0 3R 14 & &g & T gnftl 7 & divg arat fddaa & de & ¥ & arfiea fosar Smar
21 ofe fieg 7 @ &0 &, Y e sty 21 5@ dieg 7 @ a1fds @ar €, Y e em @t 21
U ST AT T foiend T Ueh tRiE & Tudh § 3 W ST A oot I7 & 9ao SI1aT ®, 3R Ue &y (Ir
&TR) ITATaRUT & TUH T 3T W HIeT &) ST 8|

Set -2
1, Muriatic acid is scientifically known as:
gfufes s &) 3RS F9 I ST ST 8
(a) Perchloric Acid /TaiRe Tfas
(b) Hydrochloric Acid /gTggiawiRe Tig
(c) Sulphuric Acid/TcrgR® Tfis
(d) Picric Acid/fafes ufds
RRB NTPC 05.03.2021 (Shift-11) Stage Ist
® Muriatic acid is a colourless, ultra-pungent solution consisting of hydrogen chloride in
water.

o wRufesd Tfs e WiEH, 3ifd-dRaT gt & o ad ot & g1g8I9 FiRIgs &idT 8l
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2. The common element for all acids is:
Tt sl & fore I a7 8
(a) Bromine /s
(b) Chlorine /awi¥T
(c) lodine /3maTga
(d) Hydrogen /gTggia
RRB Group-D 28-09-2018 (Shift-1)
RRB Group-D 24-09-2018 (Shift-1ll)
® The common element for all acids is hydrogen. All acids produce cation (H +) of hydrogen in
their aqueous solutions.
o Tt Tl & fAU ATHTRT dcd gTesIo g1 Tt 37t 3109 STotiT Bt § gT8 8o &l €HTa (H+) Iae
X 2

3. The strong acid solution contains .............
(a) Both molecules and ions /3T0] 3R 31+ g4t
(b) Most ions /3tferaier 3ma=
(c) mostly molecules /3Tfa&HR 317]
(d) mostly water /3ffabdR Tt
RRB JE 28.06.2019 (Shift-1V)
The predominant acid solution consists mostly of ions

4. Aqueous solution of copper sulphate ?/$TQR HAehe BT STei1g Gl ?

(a) Does not affect litmus. /faeaa & gaTfad 78} Hear &

(b) Turns blue litmus red. /e foewd &1 AT TR AT 8

(c) Affects both red and blue litmus /aTeT 3R e foera St & gvrfad o=aT &

(d) Red turns litmus blue. /dTeT foiewa &Y e HR a1 8

RRB ALP & Tec. (13-08-18 Shift-1l)

® Aqueous solution of copper sulphate is acidic. Because its water gets decomposed. As a
result, it turns blue litmus red/

® HIWR ADC BT Sfcily Ul AT BIdT ¢ | TIPS gqHT Ul faafed g Srar . aRummasy, o8 fia
fiemd &) A R aT &

5. Acids that contain other non-metallic elements, in addition to oxygen, along with hydrogen,
are called: /3 37t fOFH RS & AT ETES o & ATY-TTY 37 R-uTfeds daa ot 81 €, Peeia &
(a) strong acid/aaigd TfE

(b) weak acid /HHIR 3%

(c) Hydra /oxy/gTgg1/3tiat
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(d) dilute acid /adeT Tfas
RRB ALP & Tec. (31-08-18 Shift-1)

Ans : (c) There are two types of acids.

® Oxyacids - Acids that contain hydrogen as well as oxygen are called oxyacids. Example -
H2S04, HNO3, H3PO4 ...... etc.

® Hydra acids- A hydroacid is a compound. Which hydrogen that is not bound to oxygen.
Examples- HCL, HBr, HCN~

o ITRNURAE - O 3l & EEsIoN & ATY-91y Siadior ot Y 8, 32 rfeRiulAE &ar ST 2
JaTERT - H2S04, HNO3, H3PO4 ...... 31|

o g1 URlE- BRSNS Ua T €1 i AT §TggIo il Sffadior & &7 181 8. Examples- HCL, HBr,
HCN

6. To dilute a concentrated acid, what should we do?
g 3 BT UddT I & foll §H a7 1 FA1g0?
(a) Water in dilute acid /ag 3% & grt
(b) Water in concentrated acid /dig 3T% | =T
(c) First water in acid and then acid in water /Tga Tt &Y 3% & 3fR fOR 37t &Y gt &
(d) Concentrated acid in water /g9t # dfed Tfas
RRB ALP & Tec. (21-08-18 Shift-11)
® To dilute a concentrated acid, we should add concentrated acid slowly to the water.
® To dilute any concentrated acid, a few drops of concentrated acid are added to the water.
® This is an exothermic reaction.
®  Jig 3T & Uddl I & faiv g g 37t Fl ofiR-efk urhy & e anfew
o Thelt off Hig 3t BT U B & Ty Ut & Hig et B o & MAeATS SITelt B
® g U FWTAU srfafpar @

7. Which of these substances is not secreted in the stomach as an ingredient of gastric acid?
/A9 T B A1 gaTd U # Mg Ufis & uesd & w0 H gifdd &1 glar 872
(a) potassium chloride /arefud FRTSS
(b) sulphuric acid /aergR$ Tag
(c) hydrochloric acid /gTgglaIReG TfE
(d) sodium chloride/af3aH TRTES
RRB NTPC 18.01.2017 (Shift-11l) Stage lInd
® Sulphuric acid is an intense inorganic acid, it is a dark, colorless substance, soluble with
water, its chemical formula is H2SO4.
® THNS URlE U dig srerefAs Tflis 8, T8 Teb TeT, WTE yard &, Uil § gerfiet 8, gaer
IETafe g H2504 B
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8. terereririnn can dissolve gold. /............... TN F G T 2

(a) Glycerin /fTerad=

(b) Petroleum ether /Ocifeiad g2R

(c) Methanol /Ag-Ta

(d) Aquaregia /TgaRfaraT

RRB NTPC Stage Ist 22.04.2016 (Shift-1)

® Aqua regia can dissolve gold. A mixture of one part of nitric acid (HNO3) and three parts of
hydrochloric acid (HCL) is known as aquaregia, it is also tarnishes Nobel metals gold,
platinum etc.

o UFARAAT AN BT Tt ThdT &l ATsfesd tRis (HNO3) & Ush ¥T 3R gTegiawiRe Ts (HCL) & dF
T & AT T TGanRfTTaT & $9 & SIHT SA1GT 8, T8 A9 a1g3ii AT, Wifead sfe o oft gffiie & aar
gl

9. Which is correct on acidic basis? /31T YR W HI IT TET 872

(a) Red litmus turns blue /dTeT faera Her & ST &

(b) Introduces OH-in aqueous medium/in melting condition /OH- & STeitg ATenH #/fUge &Y

R & veqd T @

(c) indicates neutralization /derdr & Efd dRaT g

(d) conducts electricity in aqueous and dissolved conditions /steg 3R faafed fRfaat & faset &1

T el &

RRB Group-D 01-10-2018 (Shift-1)

® Acid is a chemical compound that dissolves in water to give hydrogen ions (H+). Its PH
value is less than 7.0 which is sour taste when dissolved in water. Aqueous solution of the
acid turns blue litmus paper red and neutralizes the base and indicates neutralization.

o TRIE Us TS Tifie & S ot & g gTegiei 3 (H+) adT €1 SUAT PH A 7.0 A SH T &
ST ot 7 g ™ WET W1 AT 81 VIS &7 Seiy ' el fle e TR &7 oot 9 T & 3R &R &r
fAfSpar & 3aT & 3R IERAIaRUr &1 FdHa 3T 2|

10. Which of the following oxides is not acidic?
fafafed § 9 o a1 sffeTss s T8l 872
(a) CO
(b) SO2
(c) SO3
(d) NO2
RRB Group-D 24-10-2018 (Shift-11)
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® Non-metal oxides that react with water to form acids are called acidic oxides. like SO2,
P205, SO3, NO2 etc, Where as CO (carbon mono oxide) exhibits a neutral nature.

o TR-uTq TS ST U & 1T UfAfhaT b 37 §9Td €, ST STaATEs HEed &l ot SO2, P20s,
S03, NO2 3nfe, Safds CO (FTa AT 3ifaaTes) dey uspfa uefia axar &1

e, is not acidic./........... 3Tty =TET 8
(a) PCla

(b) SbCla
(c) CCla
(d) PCl2

C
d
RRB Group-D 28-09-2018 (Shift-1)
® (Cl4 is not an acidic compound. Carbon tetrachloride CCl4 is an organic compound. It is a
colourless volatile liquid. Its vapor is heavier than air and insoluble. It is used as a fire
extinguisher.
o CCl4a U it Tt 781 &1 1 SeTaeiRTss CCl4 TUsh Sl e 81 g U A8 arsaefiieT ga
21 $TPT aTT gaT A VI 3R gLt g7 &1 ST IUTNT SIS T & T H fHar ST 21

12. A mixture of concentrated nitric acid and concentrated hydrochloric acid in the ratio of ... is
called Aqua-Regia.

qig ATefed UflE 31k Tig eegiawiNG TS &7 ... & 3guTd & fAsTor vaar-3orar dedrdr gl

(a)3:1

(b)1:2
(c)2:3
(d)1:3

RRB Group-D 25-09-2018 (Shift-1)
® Royal acid (Aqua-Regia) is the mixture of concentrated nitric acid and concentrated
hydrochloric acid. They are usually mixed in the ratio 1: 3.
o ITgd AT (vaar-omn) Tig Arefesd s Sik Aig gregiadiRe Ufls &7 fisor 81 §% STHdR W 1:3 &
Srgurd # AT ST 21

13. Which of the following weak acids gives H" ion when dissolved in water? /Rufafdad & @ a9
T HHSR 31T T H goi TR H+31ma 21 872
(a) Hydrochloric acid /gTgglaIReG Tfs
(b) Acetic acid /ufafes vfas
(c) Nitric acid /aT8fe® TAs
(d) Sulphuric acid/TcrgR® TfiE
RRB Group-D 19-09-2018 (Shift-IIl)
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® Acetic acid is a monocarboxylic acid. It tastes sour and pungent. It is the main ingredient of
vinegar. When it dissolved in water, acetic acid undergoes adissociation process, forming
the acetate ion CH3COO-and hydrogen (H+) ions.

o fAfts TR Us AGISifaToieh TS 81 $HET e |gT 3R dRaT €11 8. TE 8RS &7 437 vesh &1 5
g Ut § gt ST 8, ot vRifesd vl guaaor ufthar F orar 8, fad wiiee s CH3CO0O0- 3k
ETSSIo (H+) 310 S €

14. In a mixture, the ratio of salts and acids is 5: 7.If the weight of the mixture is 360gm, what
will be the weight of the acid present in it?

U ot & @aur Sk a1t &7 SrguTd 5:7 §1 Tfe AT &7 ao 360 U B, Y ITW Hisg vfis & ao @t
ENIT?

(a) 260 gm
(b) 130 gm
(c) 150 gm
(d) 210 gm

RRB Group-D 12-11-2018 (Shift-111)
Salt: Acid=5:7
and weight of mixture = 360 gm
As per above information

: _ L 7
Weight of acid present in mixture = 360)(1_7 =210gm

15. When sodium bicarbonate is placed on a strip of Ph paper, the color of the strip is ......... [SS
W asFreie St fiva T HF T Tgt W [T AT 8, A T ST A T g
(a) turns green /&1 &1 SITAT @
(b) does not change /& 9&cdT &
(c) turns blue/ieT 8 ST &
(d) becomes yellow /dtaT & ST &
RRB Group-D 24-09-2018 (Shift-111)
® The color of the strip does not change when sodium bicarbonate is placed on a strip of Ph
paper/
o ivg TR H v gt R Hf3uw sreaieiie R W ug) $T 37 TE geadr &

16. Which of the following is not an alkali? /Aafafad & & S a7 &R T8 &2

(a) NH40OH

(b) C2H50H

(c) NaOH

(d) KOH
RRB JE 24.05.2019 (Shift-1V)
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® (2H50H is alcohol. Whose chemical name is ethyl alcohol. It is not an alkali.

® (2HsOH sreated &1 formeT Imafass 1 ufdd siedhled &1 8 &R 781 2.
17. The bases change the color of universal indicators to ............ color./3TYR ATFWIAS Thdd! &

(a) yellow /diar
(b) blue /ftaT
(c) green/&1
(d) red /aTet

RRB JE 02.06.2019 (Shift-1V)
® The bases change the color of universal indicators to blue.

® IR NS THdP! BT TT S H1elT I 2 &

18. Which of the following is alkaline in nature? /Rafafad & & frad upfa amdg 22
(a) HCI
(b) HNO3
(c) H2S04
(d) NaOH

RRB JE 29.05.2019 (Shift-1)
® NaOH is an alkaline substance in nature. While all the above compounds are HCI, HNO3 and

H2S04 are acids.

® NaOH ugfa # e emiry uerd 21 Safd Iws woft 0iftes HCI €, HNO3 3R H2S04 3 €l

19. Identify the odd one from the following -/fREfaRad & ¥ S ST Uga™ -

(a) NaOH

(b) Cu(OH)2

(c) NH4OH

(d) Zn(OH)2
RRB ALP & Tec. (20-08-18 Shift-11l)

e Cu(OH)2 = (Basic Nature)

e NH40H = (Basic Nature)

¢ NaOH, = (Basic Nature)

e Zn(OH)2]-- Amphoteric

20. Metallic oxides are alkaline in nature, meaningthey react with acids to form salts and water.
Which of the following is a metallic oxide different from the other? /4Tfcae 3TTeRATES &MY Upfa
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& gl €, arufa 9 st & Ty ufafesar e aqur 3k ot a9ma &1 Pufaf@a 3 @ o9 a1 afas sifearss
TR A T 2?2
(a) CaO
(b) MgO
(c) ALLOs
(d) Na,O
RRB ALP & Tec. (29-08-18 Shift-111)
® The "alkaline oxides' of metals react with water to form alkali, or react with acid to form
salts. like- Na20, CaO and MgO etc.
o T3l & 'R ATFATES UM & ATY UfAfhar TP &R §971d &, TT 37 & AT UfAfehar ads @aur s91a
2198~ Na20, Ca0 3k MgO arfe|

21. Which of the following statements is incorrect? /Fafafdd & & &9 I1 HI9 Tad 82
(a) Phenolphthalein turns pink in soap solution. /cHAfAT TG & O | [Tl &1 AT 81
(b) Non-metallic oxides are acidic in nature. /TR-aTfca® 3ffaaTEs UFHd & g €1 &
(c) Lemon contains citric acid. /g & Orsfed tfis g gl
(d) The alkaline nature of sodium hydroxide (NaOH) is due to the presence of sodium
ions./a1fsaw grggiaaTss (NaOH) &t &k vafa Tifsaw smaHl &f IufAfa & HROT ET 2
RRB ALP & Tec. (30-08-18 Shift-1ll)
® Sodium hydroxide (NaOH) is an alkali that has OH-ions present in it for alkalinity.

o TIf3uy grsgiaares (NaOH) s &R & faad emdtaar & faw OH-3mas Hise gia 21

22. Which of the following properties is not of alkali? /FufafRad & T 9 a1 70T &R &7 78T 82

(a) They react with acids and neutralize them. /3 Tf@ & TTy ufafsar ava & 3k 3= FeRR R 4 &l
(b) They convert red litmus to blue /3 Tl faewd & Fiat & uRafdd a=a &

(c) They convert blue litmus to red /3 et foierd & @Te # uRafdd axd €

(d) Their taste is bitter. /ST WTe HaT &IdT &l

RRB Group-D 01-10-2018 (Shift-11)

RRB ALP & Tec. (21-08-18 Shift-111)

® Alkali is a compound that reacts with acid to give water and salts. It turns red litmus to blue
litmus and is bitter in taste.

® R US Uifiie & ST 37t & TTY fohaT o U 3R oigur T 21 I8 oot folend &1 et fovend & 9ao
AT & 3R W1e H Far BT 2

23. Which of the following statements is not true with respect to alkali?
&R & Ty # Fufafad & @ o9 a1 s g 78 27
(a) Sour in taste /e § WgT
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(b) Corrosive /T&R®
(c) Astringent in taste /XaTg § ST
(d) Soapy to the touch /8 W AT ST
RRB Group-D 09-10-2018 (Shift-11)
® Alkali is a substance that reacts with acids to form salts and water.

® R Us VT uerd & S 3vd & ITY ufafehar e waur 3R aret s B

24. Which of the following options is different from the other options?
fofaRad 7 3 o a1 fAeey e faweat F fAaw 872
(a) H2SO4
(b) Mg(OH)2
(c) HCL
(d) CH3COOH
RRB Group-D 28-11-2018 ( Shift-1)
® Mg(OH). is an alkali whereas the other alternatives given are acids.

® Mg(OH), & &R & Siefds fou v o7 fadeq anet |

25. Which of the following is an alkali? /Rafafad & & $7 a1 &R 27
(a) Cu(OH)2
(b) Zn(OH)2
(c) NaOH
(d) Fe(OH)3

RRB Group-D 15-11-2018 ( Shift-111)
® NaOH means sodium hydroxide is an alkali. It is also called caustic soda.

e NaOH &1 a1ef @ TIf3uH gTssTaITss U &R &1 38 o1fiies TrsT ot T SIraT 21

26. Which of the following statements regarding the properties of alkali is false? /&R & Tuf &
Ty ¥ fufafed & 3 o5 a1 oo mad 82

(a) Blue litmus turns into red. /T feend AT & g SITaT 81
(b) Alkali has a bitter taste. /&R &T ¥dT< HedT &1dT 2l
(c) Alkali are soft to touch. /&R Tf & § T g1 &
(d) conducts electricity in alkali solution (they are electrolyte) /&R THTUN H faSTclt ST T ST
& (@ goAagieiTse €)

RRB Group-D 16-11-2018 (Shift-11)
® The statement regarding the properties of alkali- 'turns blue litmus into red' is incorrect.

Alkali turns red litmus into blue.
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® &R F UM & Ty B U8 U7 - et foieny &Y ot & 9t a1 @' TeAd 81 &R ATt fovenw &Y Fiar &
Sl AT &l

27. What is the chemical formula of common salt?
ATYRUT THE &7 IS TF TIT 872
(a) HClL
(b) NaCl
(c) KOH
(d) NaOH
RRB NTPC 28.01.2021 (Shift-1) Stage Ist

Chemical Name- Chemical formula

® Sodium Chloride (Common salt) - NaCl

® Sodium Hydroxide - NaOH

® Sodium thiosulphate (Hypo) -Na25203.5H20
ATaS - AT E

® IIf3uH FWRIES (AHT 996)- NaCl

o Tif3uy gresiass - NaOH

o I3y urgighe (g18Ul) - Na25203.5H20

28. In general, how can a neutralization reaction be written?
AT, IeRAHaR0T gfafsar H foadt S ot 872
(a) Alkali + acid — water + gas
(b) Alkali + acid — salt + water
(c) Alkali + acid — salt + gas
(d) Alkali + acid — salt + precipitate
RRB Group-D 16-10-2018 (Shift-1)
In general, a neutralization reaction can be written as -
® Alkali + Acid — Salt + Water

29. Metals react with acids to produce. /9Tq¢ 1% & AT fHaT TP IeTET HReAt 8|
(a) salts and chlorine /@dur 3R A
(b) salts and alkalis /aur 3R &R

(c) salts and hydrogen/adur 3R gTEgIoH
(d) salts and water /7H& 3R gt

RRB ALP & Tec. (09-08-18 Shift-II)
® Metals react with acids to make related salts and hydrogen gases.

® TV 3TRA F AT fhaT I HefAd waur 3R gTegio 1 ST 8
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30. Which of the following salts is acidic? /Rafafad & @ 19 ar @qur snefig 272
(a) Sodium carbonate /TIf3aq HTEHE
(b) Sodium acetate /Tifsgw THiee
(c) Ammonium phosphate /3HIfATH Bidhe
(d) Magnesium sulphate /#fiferam Tethe
RRB ALP & Tec. (17-08-18 Shift-1)
® \When A weak alkali reacts with strong acid, the obtained salt will be acidic in nature.
® I§ Ud THSIR &R Holgd 3% & AT Ufafohar avaT &, @Y U e el Udpsfa & g

31. NaCl is a salt, which is formed by-

NaCl U& 0 §, St 94aT 8-

(a) Strong acid and weak base /A</gd UfAE 3R FHIR 3MYR

(b) Weak acid and weak base /AR TAE 3R HHSR 3MYUR

(c) Strong acid and strong base /ASigd TS 3R Halgd SMUR

(d) By weak acid and strong base /&HSIR 3% 3TR Tolgd &R gRT

RRB ALP & Tec. (30-08-18 Shift-1)

® Sodium chloride (NaCl) is a common salt, which is formed by the reaction of a strong acid
orhydrochloric acid 'HCL' with the strong base 'sodium hydroxide' (NaOH).

o Tif3gw TR1Es (NaCl) Ud I T0F §, ST U Aolgd VS T Tegiawing uias 'HC' &t aaigq
MR 'TfeTn gresiaarss’ (NaOH) & T ufafear & sq1 21

32. What is the chemical name of common salt eaten? /I ¥T ¥ [T A dTcd THS BT IATTHEH
I T 82
(a) sodium bicarbonate/df3aH SEFHEHE
(b) sodium chloride/af3Tw FiRTSS
(c) sodium salicylate /&if3aq Afafiee
(d) sodium hydroxide /afsaw grggiaaTgs
RRB NTPC Stage Ist 22.04.2016 ( Shift-11)
® The chemical name of the eaten common salt is sodium chloride (NaCl).

® W[V U JTHY THS ST IS 910 2T FeiRres (NaCl) 21

34. Whose chemical formula is NaCl? /NaCl fa=aesT Iramafs g7 872
(a) ammonia/3m@fAaT

(b) water /ar=t

(c) common salt/daTgRuT THS

(d) sugar /<
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RRB NTPC 02.04.2016 (Shift-1) Stage Ist
® NaClis the chemical formula of common salt. Salt (sodium chloride) is an essential part of
human food. The chemical formula of water (H20), ammonia (NH3) and sugar (C12H22011).
e NaCl 9T 79 &1 IMAAS JF 8| 70 (T3a0 TER1ES) AT WIS T U THard f&war g1 ot
(H20), smifaar (NH3) 3R S+t (C12H22011) &7 e g7 |

35. Which of the following is used to melt ice? /3t foa™ & fav Rufafea & & foaer g fear
STaT 87
(a) salt /Au
(b) hydrogen /gTssIoH
(c) caustic soda /@TRe® AET
(d) citric acid /TTgfes TS
RRB NTPC 18.04.2016 (Shift-11) Stage Ist
® Salt (sodium chloride) is used to melt ice. Freezing mixture is made by mixing sodium
chloride (NaCl) with ice.
® UG (HfITUH FARTEE) BT IUTNT g0 &1 AT & faw fvar ST 21 ferfiewor fAsror afeaw wiRies
(NaCl) &Y 5% & I1 AT ST STt 2

36. What happens as a result of a reaction between an acid and an alkali? /31 3R &R & &=
gfafssar & uRumesy a1 gar 272
(a) salts and oxygen/aur 3R Sffada
(b) acids /ufs
(c) Alkali /&R
(d) Salts and water /98 3R g
RRB Group-D 24-10-2018 (Shift-Ill)
® Salt and water are produced as a result of the reaction between acid and alkali and this
reaction is called neutralization reaction. /
o 31w 3R &R & i wfaferar & uRummRasy THe R T FT IeTe g € 3k 31 wfafar &Y
IeriaRur ufafsar Far Jrar 21

37. Sodium hydroxide reacts with ............. to form a simple salt solution?

9

TSy gTEsiaTss ... & TTY fhaT TP WA THS T O ITdT 82
(a) Sodium chloride solution

(b) Oxygen gas
(c) Hydrochloric acid
(d) Carbon dioxide gas
RRB Group-D 17-09-2018 (Shift-111)
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® Sodium hydroxide (NaOH) reacts with hydrochloric acid (HCL) to form a simple salt (NaCl)
solution.

o Tifzuw gregiavres (NaOH) ggsiaite Te (HCL) & ary ufafdar evd ue araror 706 (NaCl)
BIGEEIGIE

38. If a solution changes the colour of blue litmus paper to red, what will the pH of this

solution be?

Tfe B8 e i fAeHd TW &7 37 e AT IR T &, A1 39 9 &1 pH FaT1 gIn?

(a) 14

(b) more than 7

()7

(d) less than 7

RRB NTPC 03.02.2021 (Shift-1l) Stage Ist

® |f a solution turns the blue litmus into red then it shows the acidic nature hence its pH value
is less than 7. If a solution turns the red litmus in to blue then it shows the basis nature
means it’s pH value more than 7.

o Ift FIE Ui it fieHT T ATt IR AT & A T8 311 Ui BT G20idT ¢ AT st g A 7 F
&1 8 uf FIE O AT foiema &Y ar o a1 @ Y T8 SR UHfa &I 1far § $9T Idae ¢ & saa
fiog 719 7 9 31fas 2

39. A solution turns red litmus blue, the pH is likely to be-

T el ATt folewd & elm o a1 8, pH 819 6t Tamar 8-

(a) 4

(b) 10

()5

(d) 1

RRB JE CBT-1l 29-08-2019 (evening)

® Red litmus paper turns blue under basic or alkaline conditions. So if a solution turns Red
litmus into blue then it is a basic solution. As the pHs, less than 7 are acidic while pHs
greater than 7 are alkaline.

® Hence the pH of the solution will be 10.

o Tt foleHd W &ty a1 ey uRiRAfaat # e g ST 81 safae afd S aid ore fotens & e ar
# St AT & A TE U Gt Tt 21 Hfh 7 A 7 pH 3l g1d & Safe 7 F a1fds pH e g Elara:
fa@a &7 pH 10 g1

40. Hydrogen ion concentration of which of the following solution is Highest? /Rafafda & &
fra 9T & gTESIoM 3ma &) HigdT I 31 &7
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(a) pH =
(b) pH =
(c) pH =10
(d) pH =4

RRB NTPC 05.04.2021 (Shift-1l) Stage Ist
® The solution with the pH value of (pH=4) has highest Hydrogen ion concentration because
this solution is much acidic than other given option.
o v A (flug=4) aTat Gt H gTegIo Mg & AigdT Ia8 31fds & Fuife gg et = fiw mu
fyepeat Y et & S sl &)

SET 3
1. If the pH value of river water is ........, then its water is considered polluted with acidic waste.

Ife 7EF & T BT pH M ........ BT A1 STPT I AT YFAT F U HHT ST 2
(a) Exactly 7
(b) Zero
(c) Above 7
(d) Below 7
RRB NTPC 31.01.2021 (Shift-1) Stage Ist

® The pH value is a measure of the acidity and basicity of a solution. It is defined as the
negativelogarithm of the liquefied hydrogen ions (H+) concentration.

o tivg A ) Ot &Y sreetdr 3R &mATdT &1 AT B | T/ gdidd BTSN 3T (H+) TigdT & FRUTcdd
A0S & T B TRl fasar mar 2

2. What is the pH value of lemon Juice approximately?
g & 3T FT pH T AT feT 8T 872
(a) 9
(b) 2
(c) 12
(d) 7
RRB NTPC 29.12.2020 (Shift-1l) Stage Ist

® | emon Juice nature is acidic with a pH of about 2, but once metabolized it actually becomes
alkaline with a pH value above 7.

o figF v H el @ 2 dieg F A1y AT gielt 8, A U IR IUT09d & 1€ U8 aRad § 7 d
SR HUT 71 S AT &R & 7T B
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3. When the pH value increases from 7 to 14, it shows that-
19 pH AT 7 & §gaR 14 & ST &, Y 78 gerfar & -

(a) Decrease in H+ concentration

(b)

(c) Increase in H+ concentration
(d)

Increase in OH- concentration

Decrease in OH- concentration
RRB Group-D 19-09-2018 (Shift-11)
® The pH value of a solution is a number that represents the acidity and basicity of that

solution.

o ) Ot &7 pH WM T TReAT & Y 3T A FT S iR &mdger & geriar &

4. Which represents the increase in pH value from 7 to 14 -
St g A & 7 § 14 9% &1 gfg H geriar @ -

(a) Decrease in OH- concentration

b) Increase in H+ concentration

d

(
(c) Decrease in H+ concentration
(d) Increase in OH- concentration

RRB ALP & Tec. (17-08-18 Shift-1)

S LA R EA RS

1t -t 1 1 |
pH 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

5. The most acidic mixture has a the pH value of ......?

gaffde sreft fAsror &1 pH O ... B1dT 872

(a) 14

(b) 7

(01

(d)o
RRB Group-D 11-10-2018 (Shift-111)

The pH of a highly acidic mixture is '0'. Sorensen presented the pH scale in 1909.

IS Sty AT &1 diug '0' 81 |RE 71909 # pH Whet Ugd fa|
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6. The daffodil plants grow best in a soil having a pH range of 6.0 to 6.5. If the soil in a garden
has a pH of 4.5, which substance needs to be added to the soil in order to grow daffodils?
IEITA) RO & 1t 6.0 F 6.5 FI diua o7 arelt g & T ot g §1 o e afR Hr A F a5
e 8, aY SHISied dgd & v fobar uared o fagt & fvermar s =nfew?

a) Salt / 9H&

b) Lime / <AT

c) Sand /Xd

d) Compost / @Tq

7. Which one of the following is commonly used as an indicator to measure the exact pH?
[Rofafad & @ S 97 STHAR R TS pH & 4109 & AT U6 Tdde & §7 3 ITTNT 501 S1a1 872
(a) phenolphthalein/feTaadfa=
(b) litmus /feeaa
(c) Eosin /g3nfa=a
(d) Universal Indicator/gfAada dddd
RRB ALP & Tec. (17-08-18 Shift-111)

A universal indicator is a pH indicator is usually composed of water, 1-propanol,
phenolphthalein, sodium hydroxide, methyl red, bromothymol blue, sodium bisulfite, and
thymol blue./ T& TTEWA® Tdhad MHAR W U, 1-T0ATd, fAiamafes, sy gregiaarss, fasa
I8, SIS &, 93 Sregemse 3R ATSHTA & & &7 &1dT 8l

o
i=F
o
2
©
a

s o

) [
5 2
o 3 Q
X o =
s 3 e
o F e

( T )
HIGHLY ACIDIC NEUTRAL HIGHLY BASIC

8. Which of the following solutions is the most acidic of all? /Rufafed & T 19 a1 9ia J5 1fdF
ST 82
(a) solution with pH scale 0
(b) solution with pH scale 1
(c) solution with pH scale 6
(d) solution with pH scale 7
RRB ALP & Tec. (21-08-18 Shift-I)

® |n the molarity of hydronium ion, concentrations are easily displayed in a logarithmic scale.

o  EESITH 3T & HieRkdl H, HigdT ST AgIurd iy 90 # S ¥ yefid faar Simar 21
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9. The pH value of neutral solution is: /3&T8T fAeIT &T pH AT &
(a) 7
(b) 6
(c) 4
(d) 5
RRB Group-D 25-09-2018 (Shift-11)

® The pH value is between 0-14. Acidic solutions have a pH value of less than 7, while alkaline
solutions have a pH value greater than 7 and neutral (inert) solutions have a pH value of 7.

o U A 0-14 & S B | 3% & T pH T 7 A 1 €T §, STafh &y 9t &7 pH 01 7 & a1fds
g1 & 3k dexy (Rf¥ra) wYe &1 pH |19 7 €1ar 81

10. The pH of a solution is 3 when the pH changes to 6 so the H+ ion concentration ?/f&at e
$T pH 3 81T 8 5T pH 6 H §&a ST & df H+ 319+ HigdT &1 ST 87?
(a) Increases twice.
(b) Increases by three times.
(c) 100 times decreases.
(d) Decreases by 1000 times.
RRB ALP & Tec. (10-08-18 Shift-1)

® pH is a measure of the acidity or basicity of a solution. It is defined as the negative
logarithum of the liquilfied Hydrogen ion concentration.

® |f the pH value of a solution is 3, the concentration of H+ ion will be 10-3 mol / liter.
Similarly, if the pH value of a solution is 6, the concentration of H+ ion will be 10-6 moles /
liter, which will be 1000 times less than the first concentration.

® pH &l et Y AT AT &IRSAT BT AT | TH Gl GTSZIS T HigdT B FRUMHD ALUID b T
# it faam mam 21

o g & 91 &7 pH T 3 §, dY H+ 31ma= &t Figar 10-3 mol/wiex gnft| st yaR, afe fadf aia &1
pH T 6 &, a1 H+ 310 &1 TigdT 10-6 Hie/ciex gNfl, ST Ugett FigdT & 1000 THT &1 gnft|
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11. What will be the pH value of a solution whose concentration of hydrogen ions is 1 x 10-5

moles per liter -
3T YA &7 pH T T T Y gTegia gt &Y TigaT 1 x 10-5 e ufd dieR & -
(@) 6

RRB ALP & Tec. (13-08-18 Shift-Ill)
The pH value of a solution is the number of negative powers of 10 that reveal the hydrogen ion
concentration of that solution (H+)
et & &7 pH AT 10 & TFRTAS fhal Ht TeaT & S 3T O &I gTegIo ST FigdT (H+) &Y Udhe

AT B
[H]= 107"
log [H'] = —-pH.log10, pH = -log [H"]
Given here [H'] =107
Hence pH =-log[107]

pH = +5 log 10
H=5x1=3

12. If the pH value of a substance is less than 7, it will be considered. /af¢ f&t gare &1 diea w4
79 FH E A1 I qHT ST
(a) Neutral
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(b) Alkali
(c) Acid
(d) lon
RRB NTPC 02.04.2016 (Shift-111) Stage Ist

® The pH value is a number that exhibits the acidicity and alkalinity of substances. Its value is
equal to the inverse coefficient of the concentration of hydrogen ion (H+).

o i AT T TReUT & ST Uaradf &Y SreAdT 31k amdiadT & wafefd o) &1 STt | gregiol 3 (H+)
& FigdT & G T[0T & SRR &

(a) Strong acid and weak base
(b) weak acid and strong base
(c) Strong acid and strong base
(d) Weak acid and weak base
RRB Group-D 12-10-2018 (Shift-1)

® |f a salt has a pH value between 0-3.5, it is a strong acid and is a weak base. While the pH
of a salt is more than 10.5, it is a strong alkali and is a weak acid.

o Ift e &1 diva UM 0-3.5 & §19 §, a1 98 T& Tolgd TS § 3R Ue SHSIR 3TUR 8| SJ&fd 06 &7
fiug 10.5 T 31fAs ?, T8 Ua Uolgd &R ? 3R Ua HHeik Ul 8

14. The pH value of neutral solution is ...........?
IS fIee &7 pH A ... BT 82

(a) o

(b) 7

(c) 8

(d) 6

RRB Group-D 12-11-2018 (Shift-II)
® Acidity increases when the pH value is less than 7, and alkalinity increases when it is greater

than 7.
o WUT AN 7 A FH 8N W AT §¢ Idl ¢, 3R 7 ¥ 1A 87 R &mgdr §¢ Sl 2l

15. The pH of a solution depends on the concentration of ...
el &t &7 pH ............. B Tigdr R F1R F=ar g1

(a) Hydride ion

(b) Hydroxyl ion

(c) Oxide ion
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(d) Hydronium ion
RRB JE 26.06.2019 (Shift-1V)

® The pH of a solution depends on the concentration of its hydronium ion.

o Y O 1 Hive 3T B3I 3 &) gigdT R AR F=ar @

16. In universal indicators, what does a pH value of 4 to 5 indicate? /ATGI0® Adhdad! §, 4 T 5 FT
pH HT T gerfar 87
(a) Weak acid
(b) Weak base
(c) Strong acid
(d) Strong alkali
RRB JE 22.05.2019 (Shift-1l)

® |nuniversal indicators, a pH value of 4 to 5 indicates weak acid.

o IIAS Tdhde! H, 4 ¥ 5 &1 T A HHAR TRAT ) $Md T 2l

17. If the pH value of a salt is 12, then it is a salt of ...... ?
Tfe faft 7 &7 pH A 12 &, AT E ... ST AG0T B
(a) Weak acid and weak base
(b) Strong acid and weak base
(c) Weak acid and strong base
(d) Strong acid and strong base
RRB Group-D 11-10-2018 (Shift-111)

® |f a salt has a pH value of 12, it is weak acid and strong base.

o e fell 7He &1 diva 4 12 &, ) T8 HHGR 3T+l 3R Holgd &R 8

18. The pH of........ cannot be detected by direct use of pH paper..........
i IR & Y T A T U1 TAT &1 I ST HebelT &
(a) Ink /=aTéY
(b) Water /arit
(c) Juice R&
(d) Solid sodium bicarbonate /31T F3TH FEHE
RRB Group-D 27-09-2018 (Shift-Ill)

® The pH scale is used to express the basicity or acidicity of a solution.

o MUY Wl BT ITANT fhadl Tt T &rTdT TT AT DI e H & Toiw fvar ST 21
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19. Litmus solution is derived from [feeraeer ___ A UTT BT ®

(a) Hydrangea/grggforar

(b) Cabbage leaves/gamift & o«
(c) Lichen /aTga

(d) Petunia/agfaar

RRB NTPC 08.01.2021 (Shift-11) Stage Ist

® |itmus is used as an indicator to distinguish between acid and base.

o ACHT T ITANT 3FT 3R &R & T R A & fAiT U Ahae & w7 & fHar Srar 2

20. A mixture converts blue litmus to red, it's have a pH of ........./U& fAgor Hia faewd o ore o
(a) 6
(b) 9
()7
(d) 8

RRB Group-D 28-09-2018 (Shift-I)
RRB ALP & Tec. (14-08-18 Shift-I1)

® When the pH value of a solution is less than 7, it is acidic and when the pH value of a

solution is more than 7, it is alkaline.
o 5§ foreft ot &1 diuw a9 7 A 7 g1aT &, ) 98 3N g1 & 3R o9 frdft e T e a7 3
31fa® giaT 8, ) 98 &I YT &

21. Which of the following will make blue litmus red?
frafafed & 9 o fa foena o e s 3
(a) Vinegar /faRa1
(b) Lime water /g7 &T UT=Y
(c) Baking soda solution/sfd HieT e
(d) Liquified soda solution/dRelidd HIST THTLT
RRB JE 27.05.2019 (Shift-1Il)

e Vinegar will turn blue litmus into red./foRe&T et facHy S &1 # g Tl

22. Which of the following is a olefactory indicator? /Fufafad & I &9 A1 T siiaithaed Tdhdsd 87
(a) Rose /TeTTe

(b) Soap /aTgT
(c) Clove /et

SHIPRA CHAUHAN@CLASS24/GENERAL SCIENCE/ CHEMISTRY



GENERAL SCIENCE — CHEMISTRY/ACID, BASE AND SALT

(d) Turmeric /g
RRB Group-D 26-09-2018 (Shift-I)

® There are some substances whose odor changes in acidic or alkaline medium, such
substances are called olefactory indicator.

® Such as vanilla, onion and clove etc. are scent indicators.

* B U WA Eld & fOHdY 1y st a7 ey wrend o geot ST 8, W ueref & siaithaed gad FaT
ST &

o A afvar, wrer 3tk i anfe gy gue &

23. What will be the value of the solution, whichturns the red litmus to blue? /3T fa@aw &1 A
T BT S ATl fiewd &Y fiefr e T &2
(a)s
(b) Less than 4
(c)e
(d) More than 7
RRB JE 27.06.2019 (Shift-1)

e The pH value of that solution will be greater than 7, which turns the red litmus
blue.

o 3T Ui T U AT 7 ¥ 3Tk g, AT Tl TdeAT hl Aol T
ST gl

24. When litmus is taken into a borax solution, it turns................. [forerng & RaT & 9Tl U STeT
SITAT 8, Y Ug §aet STl &.
(a) Pink /TeTat
(b) Blue /tar
(c) Orange/awaft
(d) Red/dITet
RRB JE 23.05.2019 (Shift-1)

® \When litmus is taken into a borex solution, it turns blue.

o 9 foicHT & S 9id § STaT ST &, df g T & ST 2

25. Which of the following indicators cannot be used to differentiate between acidic and neutral
solutions?

fofafad & 3 5T Ide o1 ITaT ey 3R deT JUTU & §19 37dR = & faw 78} fvar S awar
8?7
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(a) methyl orange /fATga 3RS
(b) phenolphthalein /fhTaqafa
(c) Eosin /g3nfa=
(d) Universal Indicator/gfAada dddd
RRB ALP & Tec. (14-08-18 Shift-IIl)
® A natural or synthetic indicator such as phenaphthylene, universal indicator methyl
oranges,detects the acid or alkali properties of a compound while cytoplasm, tissue is
studied by eosin.

® TH UTpias uT FHARRS ddhdas S fd Barfterety, Aravifis ddde ured s, Ue difte & ufis
T &R T[0T BT TdT TdT & STdfh ATSCITToH, FHad BT LT 3 gRT BT ST 21

26. Fill in the blanks with appropriate options. .......... turns blue litmus into red and ...... , turns
..... litmus to blue ?
3R faweat F feb o ¥ ... et foend Y e § e AT 2 o ..., flera & e & qee aar §
(a) Alkali, acid, red /&R, 3%, ATcA
(b) Acid, alkali, green /31, &R, &1
(c) Alkali, acid, pink /&R, 3T/, TeTal
(d) Acid, alkali, red/3m, &R, Tl
RRB NTPC Stage Ist 29.04.2016 (Shift-11)

® The litmus paper is actually blue. But when it is immersed in acid, it turns red and this red

litmus paper is again dipped in alkaline solution, then it turns red to blue. Due to this nature

of litmus paper it is also called indicator.

o fcHy U arda | e graT 81 Afh 9 3 377 H ST ST & ol UE @l &1 ofTdl & 3R $9 AT
foicHs O T SIaRT &RIT °id § ST ST 8 A1 T8 @t & et 87 Srar 8| foiens 9w 6 g3t vl
& HRUT Ug WY § I H&T T 8.

27. The color of inactive litmus solutionis ........ [t faera fdeaa dram ... BT g
(a) Purple/dmt
(b) Black /&TeT
(c) Blue /Htar
(d) Dark blue /TT&=T fteT
RRB Group-D 24-09-2018 (Shift-1)

® |itmus is a natural indicator. It is soluble in water. It is obtained from plants of lichen. The
color of inactive litmus solution is purple.
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o fAeHT Us Uafasd Tdhds 8| T8 Ut # gaefia 8. ug @red & utel @ ure grar 21 Aty fdema
faeTTT &7 71 ST g 8

(a) Harita (moss)/gRar (T8)
(b) Spirogyra /TTERNTIERT
(c) Lichen/aTgasT
(d) Rixia /Rfeaar
RRB Group-D 12-12-2018 (Shift-11)

29. The litmus solution is extracted from the i
forema e ____ & Raterr Sirar 21

(a) Lichen/dTsd

(b) Hydrangea /gTgsfaar

(c) Geranium/sRfeay
(d)

d) Petunia /agfaar

RRB Group-D 22-09-2018 (Shift-11)

® |itmus solution is extracted from lichen. Litmus is a mixture of various water soluble
pigments extracted from a plant called 'lichen' of the Thalophyta group. It is often used as a
Indicator. Litmus solution is purple when it is neither acidic nor alkaline.

o e ¥ foierny o aTar ST 81 foeny deiegel 9qg & 'dRd- AHe 9ig & fRera e fafaa
gt # gerfiel T &7 fAsror 81 ST IunhT SR Tdhde & ¥9 # fasar Sar 81 feny ee S grar
2 59 Tg 7 Y 3y geT & 3R 7 € e

30. When litmus solution is neither acidic nor alkaline, it has a color.
9 foieH 9id 9 Y 31T g1 & 3R 7 & &g, Y 39T 77 81T 8l

(a) Colorless /TTET

(b) Violet /a7t

(c) Blue/raT

(d) Pink /TJctTet

RRB Group-D 05-10-2018 (Shift-111)
® \When litmus solution is neither acidic nor alkaline then its color is purple. Litmus is a
mixture of various water soluble pigments

® extracted from a plant called 'lichen' of the Thalophyta group. It is often used as a Indicator.
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o I§ foeHy Bl 7 aY iy g1dT & 3R 7 € et 53t 1 ST €T 81 foeww fafv o & gemfier
it o7 fArsyor @
o IAIHIEeT THE & AP ATHS U F FASTAT TUT| ST ITTNT SRR Hdbdd & 7 § fbar ST gl

31.The substances whose odor changes into acidic or alkaline medium. ... ... It is said. /d gard
oY Tier et T ety wrerw H S AT Rl L. TE el STl 8

(a) Synthetic indicator/fHafes ddas

(b) Acid-base indicator /TfO3-39 Thdd

(c) Olefactory indicator /3ficithaedt Hdbdd

(d)

d) Natural indicator /UTdfds Tdhdd

RRB Group-D 19-09-2018 ( Shift-1)

® There are some substances whose odor changes to acidic or basic medium. These are called

Olefactory indicators. Such as vanilla, onion and cloves etc.
o B Uy UV gl & e Ty sty I endy urenw # gadt ST 1 5% 3cithael Tahdd HaT ST 8|
ST AT, @ iR i el

32. If the soil is treated with soft acid, then the soil will contain the flowers of Hydrangea culm
will be-
Tfd fgY & A 31ve ¥ IR fvar Sme, oY fAgh 7 gresfaar ded & Gt BiM-

(a) White color/dthe 31

(b) Blue /=TT

(c) Brown /a1

(d) Pink /et

RRB Group-D 28-11-2018 ( Shift-1)
® Hydrangea glum flowers are blue in color. Hydrangea is in full bloom in August. Its petals
acquire a blue color in an acidic environment and the actual colour of litmus is blue.
o ETREIUT TH & Bt Aot T & B1A & 3R § e It e fRAer 21 g6t ugiat sefiy araraRor
H e &1 v R @t € ok fenw o1 arafds & e g 2

33. When mixed with sulphuric acid, the color of litmus solution will be different? /TcrIRe 3%t
& Ty e W foens fawa o1 a1 foe g

(a) Orange /amfY

(b) Red /e

(c) Pink /tcTat

(d) Blue/Yar
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RRB Group-D 06-12-2018 (Shift-11)

® The color of litmus solution will become red when mixed with sulphuric acid, because litmus
turns red in acidic solution.

® Litmus is a mixture of various pigments soluble in water that is extracted from plants called
lichen of the Thalophyta group. It is often used as an indicator.

* IR UflE & O1Y e W ey e &1 31 |Td &1 ST, auifes sy aYd §f foena dret &
ST 21

o eny urft & germefier faftrar &t &1 frsror @ &Y daiwrger THg & ATeds Arae utel @ fete Srar 21
U IRR TS Hhdd d ¥4 § IuaT fHar ST 2 |

34. What will be the effect on the color of dry blue litmus paper when exposed to dry HCL gas?

[T ToHivE T & HUd # 3T W I e fiiend Tw & 31 W T U9Td USn?

(a) It will become colourless. /T TTEN &Y SITQT

(b) Its colour will be red. /$T®T I AT &I

(c) Its colour will not change. /8T T IET SGTT.

(d) Its colour will be pink. /ST T [ATdT &I

RRB Group-D 07-12-2018 (Shift-111)

® Dry blue litmus paper does not change color when exposed to dry HCl gas because it is
unable toproduce ions (H+) in the absence of water as it is not ionized. For this reason, it
does not act like an acid.

o a1 FieT e AR T wHive 119 & Tud & 3 WR AT EY g @ FUife Ty it Y arguf@fa &
M (T+) 399 F o s B il wg mafaa €Y 8T 81 59 SRUT U8 37 &t @E S T& Heer
gl

35.What is the action of dry HCL gas on dry litmus paper? /[& foicHd 9w W &6 Todiva 19 &t
T fobaT gt 87
(a) Blue litmus paper turns red. /=T fedd 9w ATl & STaT 8
(b) Blue litmus paper turns white. /=T fedd 9w Tthe & ST B
(c) Blue or red litmus paper does not change its color. /<IeT IT #Tef felcHT TUR 3TUAT I &1 T&etdr
gl
(d) Red litmus paper turns blue./@Te faend TR a1 & ST B

RRB ALP & Tec. (13-08-18 Shift-l)
36. eeenne is an amphoteric nature? /........... gyt gefd 872
(a) SO2
(b) N20
(c) CaO
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(d) ZnO
RRB ALP & Tec. (14-08-18 Shift-111)
® Metal oxides that exhibit both acidic and alkaline behaviors are called amphoteric oxides.

Such as aluminium oxide (Al203), Zinc oxide (ZnO)
o  UTq NTUTES S ST 3R &g T auagR weffd ava §, IvgydT siedres dead 81 99
TegHifT sriedres (Al203), fSie sifaares (ZnO)

37... ... Reacts with acids and bases./. . . . .. 317 3R &R & 1y ufafear adar 21

RRB Group-D 15-10-2018 (Shift-1)

® Al203 reacts with acid and alkali because aluminium and zinc metal oxides are amphoteric.

o Al203 3 3R &R & 1y ufafhar wvar § aifes vepitfam stk fSe arq siiearss svgedf g1 &

38. What are the metal oxides that react with acids as well as bases?/? HiT T ETIFQT m % S
3Fa 3R &R & ary gfafear ad &2
(a) Acidic oxide/3FelI T ﬁﬁ%@g
(b) Neutral oxide
(c) Amphoteric oxide/TFRIC e 3-1\"@133’
(d) Alkaline oxide /8T 3{TFaTSS

RRB ALP & Tec. (17-08-18 Shift-1)
Amphoteric oxide exhibits both acidic and alkaline behavior. / THpIcR® STTaaTss STy 3R &R
I sIdeR Ueffd dar g1 EX- Aluminium oxide Al203 and zinc oxide ZnO .

39, e, oxides react with acids as well as bases? /.......... ATFITES 3T o TY-TTY &R & TS
ot ufafesar a 872
(a) Inactive/ffemT
(b) Acidic /3rtia
(c) Alkaline/&msiT
(d) Amphoteric/3¥a=R
RRB Group-D 19-09-2018 (Shift-11l)
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® Metal oxides that exhibit both acidic and alkaline behaviors are called amphoteric oxides.

Aluminium oxides are amphoteric. They react both with acids as well as bases.
o T IAITSS ST AT 3R &I ST WaER UefAid v &, IUTLHT STTaITes FeaTd & | Tegfafaad
sifeaTes IygYHT 81a 81 3 ot 3R &R ST & Iy ufafesar a=a €

40. Which metal oxide is an amphoteric oxide?
S T T TS T IUTLHT TTITES 872
(a) Iron/eYeT
(b) Aluminium /TegHifaag
(c) Sodium /3T
(d) Potassium/arefraa
RRB Group-D 28-09-2018 (Shift-1)

RRB Group-D 28-09-2018 (Shift-1ll)

® Metal oxides that react with both acids and bases form salts and water, they are called
amphoteric oxides. Examples- Aluminium oxide, zinc oxide etc.

® ¢Tq 3fTaTES St 31 3R &R gl & Ty ufafhar s @aur iR Ut 99T €, 32 TipleRa sifaaTes
HET SATAT 8| ISTERVT- Ty 3ffqarss, e siaares anfe|

SET 4

1. Who had invented the pH Scale?
pH e &1 TfashR fhaa fdar g1?

A. S.P.L Sorenson/ U.TH.4.Te IRAAA
B. Benjamin Franklin/ SSfae thafam
C. Henry Moseley/ &% Traa

D. Wilhelm Rontgen/ fam® e

pH

* The conceptof pH was firstintroduced by Danish chemist
S¢ren Peder Lauritz Sgrensen (1868-1939), the head of the
Carlsberg Laboratory’s Chemical Department, in 1909

* Dr.Sgrensendeveloped the pH scale during his pioneering
research into proteins, amino acids and enzymes - the basis
of today’s protein chemistry in a paper titled “Enzyme
Studies Il. The Measurement and Meaning of Hydrogen lon
Concentrationin Enzymatic Processes”:

The value of the hydrogen ion concentration
will accordingly be expressed by the
hydrogen ion based on the normality factor
of the solution used, and this factor will
have the form of a negative power of 10.
Since in the following section | usually refer
to this, | will explain here that / use the name
"hydrogen ion exponent” and the
designation Py, for the numerical value of the
exponents of this power.

Serensen and the Carlsberg Chemistry Department
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2. In which of the following field pH scale is important for measurements?
Rufafad 4 F o &7 & 710 & AT pH Tt Agayuf 82

A. Medicine/ &art

B. Forestry/ arfadht

C. Food Science/ waTer fagrm

D. ALl of the above/ Iwih Tt

3. Range of pH scale is
pH A 1T &

a) 7to10

b) o0to10

) Oto14

) 7to14

C
d

The pH scale

0 1 2 3 9 10 11 12 13 14

Dy T ———

acidic neutral base
(alkaline)

4. Level of pH found in antacid solution

Terfds gtar # grar T e &1 TR
a)<6.5
b)=7.0
c) >10
d) > 14
The pH Scale

ﬁ
ﬂ Ammoma

<
Balung soda

Hand soap Bleach soiunons of a|kalis

ACID NEUTRAL BASE
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5. pH of neutral salt is

3SR aur BT pH BT &

6. When more and more water is diluted with acids its H+ ion concentration will
SI9 1faE A 1fad ST o Tt A Agepel fhaT ST & At ST H+ 31 Figar gnft
a) Increase/ §e-T
) Decrease/ &Ht
c) remains the same/ U& &1 I@aT &
) depends on the type of acids/ TR & &R W Ak a1 &

7. When acids react with metal oxide it produces

SIS 37T YT ATRATSS & HTY SITAFHTT HRelT & Y Tg Ieqo el @
a) water and salt/ Ort 3R @gur

b) salts and hydrogen gas/ @aur 3iR gTggia 1

c) salts only/ &ad o gor

d) no reaction takes place/ &' ufafear 7&f grdt &

8. What is the pH value of very strong acid solution?
STAfAE U ST fAeTT &1 pH AT a7 gYaT 872
A.Lessthan7/.7 .94 &H

B. Less than 5/5 . @ &H

C. Less than 2/2 . 94 &H

D. Less than zero/ T @ &0

9. Why we measure the pH of sea water?

&9 g & U &1 pH 9t Atga 2

A. It helps in corrosion research/ Tg ST SIAYU # Hag HT &l
B. It helps in agricultural activity/ 7g $¥ nfafafeat & weg owar &
C. It helps in fermentation/ Tg f&vas & Hag T &

D. It helps in sterilization/ Tg T ¥ Hag HdT &l

10. What is the pH value of saliva after meal?
WS & §1¢ @R BT pH AT fvam gar 72
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A. 4.8
B.5.8
C.6.8
D. Less than 4

11. What is the pH value of pure water?
€ ST T pH AT faed=m grar 872

A. Less than7/7 . @ &H

B. Greater than 7/7 . ¥ 3T

C. Equal to 7/7 . & SRR

D. Greater than 14/14 . ¥ §81

12. What will be the litmus test if the solution is basic?

Tfe faees emd § aY faea gdteror @uT g

A. Red litmus will turn to blue/ &Te faieqd et 8 SITaTm

B. Blue litmus will turn to red/ e foewa @t &1 STaem

C. No change in colour/. ¥ & &1$ uRad &l

D. It will change into orange pink./ Tg IR [eTel {1 H S& ST

13. What is the pH value of toothpaste?
TYOE ST pH T FT 872

A.9.0

B.10.5

C.25

D. 6.0

14. What is the pH value of pure alcohol?
< TeHIEA BT pH T fared=T grar 872

A.7

B.7.33

C.7.80

D.8

15. pH value of Urine
A &1 e 7

A. 3.0

B. 4.8

C. 5.6
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D. 10.0

17. pH value of milk
U &1 pH A

A. 6.5
B. 85
C. 55
D. 10.5

19. Which one of the given is a mineral acid?
fgfafea # & $9-91 v |t sne 872

A. Lactic acid/ wfdes vfas

B. Formic acid/ wiffie tfiis

C. Tartaric acid/ eéRe 31/t

D. Hydrochloric acid/ gTsgiaaiie ufds

20. Which one of the given is an organic acid?
U v & A S T UF FEAD A 22

A. Citric acid/ orsfes ufas

B. Hydrochloric acid/ gggiawIRg Ufis

C. Lactic acid/ @ifdes tRg

D. Both (1) & (3)/ &M (1) iR (3)

21. Which one of the given is incorrect?

faw 0 # ¥ B A1 T 272

A. Acids turns blue litmus paper red/ 3 Fiet folcHT U7 & ATcT I T &

B. Aqueous solutions of acids conduct electricity/ 3l & Jita fa@a fagd &1 91 o3 &
C. Acids react with certain metals to form hydrogen gas/ 3+ $© €Tq3il & TTY rfAfHAT P
gresio N a1 &

D. None of these/ &8 I &g T8I

22.Which one of the given acids is used in the treatment of bone marrow and scurvy diseases?
fou Ty st # A FIH-TT T Aoy SR TondT T & Iu=R W v f3aT ST 27

A. Acetic acid/ ufafes i

B. Hydrochloric acid/ gggiawiiRe Ufis

C. Ascorbic acid/ Tifds ufas

D. Nitric acid/ gfes tRis
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23.Acid present in apple is :
J9 & T I GTAT 3FA B

A. Oxalic acid/ 3fiaaTfaie 3
B. Malic acid/ #fas wfds

C. Acetic acid/ vfafes ufas
D. Formic acid/ ®iffies 310t

24.Which one of the given is hydracid?
faw o & & S A7 ETEEIE 87

A. H3PO4

B. H2SO4

C. HCN

D. HNO3

25. Most of the oxides of metals when react with acid, form
gTq3it & STAHIL ATRATSS 3+ & TTY AfAfhaT D
A. A base/&R

B. An acid/3t+

C. A salt/qur

D. Either (1) or (2)/ T 4T (1) TT (2)

26. Which one of the given is formed when sodium hydrogen carbonate reacts with hydrochloric
acid?

AT ETESIT FIEIAC gregladIRe TS & AT Ufafhar s R R MU A A S ara4dar &2

A. Sodium chloride/ H1f3TH TwRTES

B. Carbon dioxide/ HTd SIS

C. Water/ urt

D. All the these/ T Tt

27. A strong acid:

U UdoeT 3+ :

A. Completely gets ionized in water/ Ot ¥ qft @& ¥ afAd & ST 8
B. Partially gets ionized in water/ Sie ® 371 ¥0 & M & ST @
C. Do not get ionized in water/ Siaf & 3rmafad 7 &

D. All the these/ T I+t

28. Which of the given is a strong base?
fau e & ¥ $H vF va &R 22
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A. Calcium hydroxide/ SfRmaH gEgiaaTEs

B. Magnesium hydroxide/ #fifram grggiaares
C. Ammonium hydroxide/ 3MIfATH gEgiRATES
D. Potassium hydroxide/ Trefa grggiavTes

29. Which of the given is used as an antacid?
feu e & & B I Terls & Fu o g fvar Srar 82
A. Sodium hydrocarbonate/ Ffsud gEgIFET
B. Calcium hydroxide/ SRy grggiaarss

C. Magnesium hydroxide/ #fiferay grggiaass

D. All the these/ T T+t

30. Which element is always present in Arrhenius acid?
arefoT vfls o &9 9T dad g0 TSl g1dT 87

A. Oxygen/ 3fTadIS

B. Nitrogen/ ATggIoa

C. Hydrogen/ gTsgia

D. None of these/ 378 I $Is &1

31. Methyl colour in acidic medium is
T AT H RYEA ST ___ gare
A. Yellow/ dar

B. Pink/T[era

C. Red/dTTet

D. Orange/31i%at

32. The colour of Methyl orange in basic medium is
&R ATey § fAgTse SIS &1 A7 8

A. Pink/ TJeTTat

B. Orange/ 31¥sT

C. Purple/ uda

D. Yellow/ diar

33. The pH of Milk of Magnesium
HTITH & g 7 diew

A.3.0

B.10.5

C.7.0
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D.5.5

34. Phenolphthalein’s colour in basic mediumis ____butin acid itis ______

&R ATend H BAewAfaT ST AT _____ BT e AT v HTg ______ BT 8|
A. Pink, Colourless / TeTelt, {éH

B. Yellow, Pink/ dYdT, TTet

C. Pink, Orange/ T[eTal, ST

D. Blue, Red/ T, &Tet

35. Which of the following acids are edible
fRufafad & T S 97 e @a T @

(a) Citric acid / grsfes ufas
(b) Tartaric acid / e¢Re T

(c) Hydrochloric acid / gTggiaiRe Tfs
(d) Carbonic acid/ &1EiRe Tas

A. (A) and (B) are correct/(A) 3R (B) TIét &

. (A), (B) and (D) are correct/(A), (B) 3R (D) T&l &
C. (A), (B) and (C) are correct/(A), (B) 3R (C) T &

B
D. All are correct/. g Tl &

36. An indicator is one kind of the following compound
TS Hhas Fafafad ffiie &1 e Ter 2

A. Strong acid only/ dael U 3TFel

B. Reducing agent/ &H & dTell Toic

C. Weak base or acid only/ &de gael &R T 3%

D. Complex salt/ Sffee waur

37. An acidic solution has:

TS ety faeaT & gar &:

A. Less concentration of hydrogen ions than hydroxide ions./ TggIGHTES STTHT B =T H BT
JTTT Y HH HigdT|

B. More concentration of hydroxide ions than hydrogen ions./ gTggIa= 3TTHT &l JoieT |
gTesIadTss 3Tl & 3ifed TigdT|

C. More concentration of hydroxyl ions./ gT8sifad 3Tl & 31fds HigdT|

D. Equal concentration of hydroxide and hydrogen ions./ BTgSIaTES 3R BTESIH ST I TH
HIGdT|
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38. Which of the following statements is true/false?

PafafRd & O 9 a1 o7 I/3/a 872

Statement:

(A) H2SO4 is used to remove sulphur and other compounds in petroleum refining. / H,SO4 &1
Iugh ey efes § Tew 3R 3y TNt &Y ger & foarw favar Simar 21

(B) The basic nature of sodium hydroxide (NaOH) is due to the presence of hydrogen ions/
Tifuy gregiaarss (NaOH) & g Usfa gTegiei ot & 3uf@fa & oror gdt &

a) Both the statements are false/ EH1 &I g3 2|

b) Only statement A is correct/ dae H2= A TE gl

c) Only statement B is correct/ ad 2= B F&I &1

d) Both the statements are correct/ I &7 T &

—_~ o~ o~ o~

(a) Both molecules and ions / 370 3R 3T =T
(b) Most ions / 3rferdier 3maa

(c) Mostly molecules / SITETR 37U]

(d) Mostly water / STTETAR UT=HT

40. Aqueous solution of copper sulphate

PR Fehe &I Ay faera -

(a) Does not affect litmus. / foieaa & gvTfdd T8 & 2

(b) Turns blue litmus red / i foewT & AT R AT 8

(c) Affects both red and blue litmus / @TeT 3R ot feerd 1 & wvTfad aar &
(d) Red turns litmus blue. / 7ot faewa &1 Frer & 2T 21

41. Which of the following statements is incorrect regarding strong acids?

TS 3| & deg # Fafafad 8 & & 91 S99 Tad 87

(a) Strong acids react very rapidly with other substances (such as metal carbonate and metal
hydrogen carbonate) / Uad 3R 310 TETT (S €Tq FIEIHE 3R UT] EESIS PIEe) & AT I§d doil
¥ gfafear a2

(b) Hydrochloric acid, sulphuric acid and nitric acid are strong acids / gTggId@IRS® TS, A gRe
ufds 3R A1sfes ufds uae o &

(c) Acids are chemical substances that have a salty taste. / 37 3 TS ard § o e @i
THS T B

(d) ALl mineral acids are strong acids / Tt WS 317 U 317 €1l &

42. The common element for all acids is:
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Toft a1t & fore I a9 #:
(a) Bromine / stHi=

(b) Chlorine / FeiT

(c) lodine / @S

(d) Hydrogen / gTggiai

43. Which of these substances is not secreted in the stomach as an ingredient of gastric acid?
I8 A B T uery 1ee uis & e U & ®U F ey & Fifdd T8 er 872

(a) Potassium chloride / TIefaH TRTSS

(b) Sulphuric acid / ¥erfid Ufas

(c) Hydrochloric acid / Tsgiadiie Ts

(d) Sodium chloride / Af3TH TARTES

) Glycerin / fTaad=

b) Petroleum ether / GeIfiad $2R
) Methanol / AgTe

) Aqua regia / TaaT IfSITT

45. Which of the following acids gives less OH" when dissolved in water?
fRofaRad 3 & a1 onet Ut § god W PH g a1 872

(a) HNO;

(b) CH,COOH
(c) H,SO,
(d) HCL

46. Which is correct acidic basis?

DI AT LT T 3R 82

(a) Red turns litmus blue / dTeT folerd & freT R a1 @

(b) Introduces OH- in aqueous medium in melting condition / fUae= &t A & STefta arary &
OH- T uftag ar ?

(c) Indicates neutralization / Terdar M a1 &

(d) Conducts electricity in aqueous and dissolved conditions / Seita 3R o7 aRfEafaat & fasrett &1
LTl AT &

47. As a dehydrating agent to convert ethanol to ethane is used.

TIHTS B U & §aea & faw elefievorede s sod ___ ST IgTNT o ST B
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a) Nickel / Rde

b) Sunlight / IR<T T e

c) Concentrated Sulphuric acid / $fgd Termgke Tfas
)

d) Heat / T

(
(
(
(

48. Which of the following statements is not true about acids?

3l & R # Pufafad & @ S a1 vu7 I 76 872

(a) It forms H+ in aqueous medium/liquid state / T& T ATEIH / TReT AT & H+ SATAT 8

(b) It is bitter in taste / Ug W W ®&ar &IdT &

(c) It converts blue litmus into red / Tg i faera & @t & gRafda wwar &

(d) Hy reacts with metals and bicarbonates to form CO, and salts/ H, €rqafi 3R SIedEie &
Ty gfafear e CO, 3R «Taur §91dT 2

49. Which of the following oxides is not acidic?
frafaRad # @ o A sifawarss sy T8 87

(a) CO

(b) SOz
(c) SO3
(d) NO2

51. A mixture of concentrated nitric acid and concentrated hydrochloric acid in the ratio of
_______ is called Aqua-Regia.

ig Tsfed arer IUT Tig ESIawIRG 3 & 31T § ST & vaar-XoraT sga &

(a)3:1

(b)1:2
(c)2:3
(d)1:3

52. Which of the following weak acids gives H+ ion when dissolved in water?
fafafad & O o9 I7 SR 30 U 8 god W H+ 3709 2dT 87
(a) Hydrochloric acid / gTggiawiRe Tfag
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(b) Acetic acid / Tfafes tas
(c) Nitric acid / 7gfes tRis
(d) Sulphuric acid / IrgRe UfAs

53. In which year Sorenson invented pH scale ?
TRAT A pH ¥l BT MfASHR foar aef faar 22
a) 1909
) 1924
c) 1935
) 1950

54. The pH scale measures the hydrogen ion concentration in a solution. What does P mean in
this?

pH Wret faft faeras & g1egia 3mae &t TigdT & Araar 81 99 P &1 a7 3ref 872

(a) Power / 21fth

(b) Potenz / Tiew

(c) Potential / &ddT

(d) Potency / Gidet

55. What is the pH value of an alkaline solution?
&R fAeraT &7 pH AT e 81T 272

(a) More than 7 / 7 & 31fa&

b) Less than 7/ 7 & &1

(
(c)7
(d) 3

o

pioe Alaneg
pIoe yorwWolS
auun
131eM
J21emeas
epos bupjeg
EI[3}
uonsabipug

[y
o
_ ey

7 11112(13|1

-
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Acid Neutral Alkali

(b) 7
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57. The salts of strong acids and strong bases have a pH value
U 3Tl SR YA eI S @aui ST pH O ______ BT 8.

(a) o

(b) 7

(c) More than 7/ 7 & 3ifa&

(d) Less than 7/ 73 &H

58. If the pH of a salt is zero, itisasaltof _________
i @auT ST pH I8, AT _________ BT AU

(a) Strong acid and weak base / USe 3T%d 3R gdel &R
(b) weak acid and strong base / goig 37 3R USd &R
(c) Strong acid and strong base /USe 3+ 31R Ul &R
(d) Weak acid and weak base / goia 377 3iR goid &R

59. The pH of a solution depends on the concentration of
et oo dTpH _________
(a) Hydride ion / gT$3T8S 311+
(b) Hydroxyl ion / gTggifaaa smad
(c) Oxide ion / 3MTeATSS T

(d) Hydronium ion / gTssIfad 3mad

60. Which one of the following matches is not correct?
fFofafad 3 3 o a1 fam 98 78 872

(a) pH of blood -7.4 / 3 &T pH -7.4

(b) pH of pure water-7.5 /& 9Tl &7 pH-7.5

(c) pH of vinegar-2.2 / fiR&T &1 pH-2.2

(d) pH of milk-6.6 / g8 &T pH-6.6

61. Which of the following solutions will have the lowest pH value?
fofafad & ¥ f5u faea &1 pH 99 Ted &9 gmme?

(a) Lemon juice / g &1

(b) Pure water / & UT=T

(c) Blood / b

(d) Detergent / f3esie
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62. If the pH value of a salt is 12, then it is a salt of
e IS FTpHAM 128, T8 ____________
(a) Weak acid and weak base / gofa 375 3iR gola &R
(b) Strong acid and weak base / Ua 377 3R goid &R
(c) Weak acid and strong base / goia 3T%d 3R UeSe &R
(d) Strong acid and strong base / U&d 3T%d 3R TS &R

63. ThepHof _________ cannot be detected by direct use of pH paper __________
pHOWR __________ SYIFITYTA _________ & pH &7 TdT FET T ST T T g.
(@) Ink /

(b) Water / urt
(c) Juice /=
(d) Solid sodium bicarbonate / 31T Tf3TH FTEFHETC

64. In universal indicators, what does a pH value of 4 to 5 indicate?
Trdiie Tdhde! #, 4 ¥ 5 &7 pH AT 39T gerfar 872

(a) Weak acid / UseT 3181

(b) Weak base / goia &R

(c) Strong acid / 9§« 3T+

(d) Strong alkali / 9seT &R

65. Which of the following is an example of a salt whose pH value of aqueous solution is less
than 7?

fafafRed § § S 1 791 ST ISTRUT § fHAST e 9l T pH 09 7 3 1 872

(a) Sodium carbonate / Tf3TH FHETHE

(b) Sodium bicarbonate / TIf3TH FEHEEHE

(c) Sodium chloride / If3aH TERIES

(d) Ammonium chloride / 3TAIfRTH TERTES

66. The litmus solution is expelled from the rectum.
forena faeras & gane ¥ a1eR e fear Smar 81

(a) Lichen / &g

(b) Hydrangea / grgsforar
(c) Geranium / Sfiftaw
(d) Petunia / ggfaar

67. A mixture converts blue litmus to red, it's haveapHof __________

T e i fera S A ST A seaAdT €, sadTpH ____ BT g
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68. If a solution causes blue litmus to turn red, what is its pH level likely to be-
Tfe et faaom & SRur e fotewa &7 37 1 81 SraT1 8, d) $9eT pH TR 9T 81 6T FHTeT 8-
(a) 7
(b) 8
()9
(d) 6
69.The acid is used in eye wash is -
3@ 9 H U §14 aTeT 37 & -

a) Oxalic acid/ arfegTfois TS
b) Nitric acid/ wTsfes wfas
c) Boric acid/ sift® Tf@s
d) Acetic acid/ fRR&T 310

70. The increasing order of acid strength of HCL, HI, HBr, HF is -
HCL, HI, HBr, HF &I 317 UacdT &7 9gdT 6H & -

a) HCl<HI<HBr<HI

b) HI<HCl<HBr<HF

c¢) HF<HCl<HBr<HI

d) None/ & T&f
HCL, HBr, and HI are all strong acids, whereas HF is a weak acid. The acid strength increases as
the experimental pKa values decrease in the following order: HF (pKa = 3.1) < HClL (pKa = -6.0)
< HBr (pKa = -9.0) < HI (pKa = -9.5).
HCL, HBr 3iR HI T} Uad 37t &, 519 HF T gt 3t 81 FRgfafaa ow o uralfiies pKa 719 ged @
375 Q1 9 ATt 8: HF (pKa = 3.1) < HCL (pKa = -6.0) < HBr (pKa = -9.0) < HI (pKa = -9.5).

71. The acid is used in lead storage battery is -
oS TR St o Tgeh g1 aTeT 31 & -
a) Oxalic acid/ arfegTfeis TS
b) HNO;
c¢) H,SO,
) HCl

(=}
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Lead storage battery or lead-acid battery, is one type of rechargeable battery and one of the
common energy storage devices in which sulfuric acid is used.

During discharge, both the positive and negative electrodes become lead(ll) sulfate . The
electrolyte loses much of its sulfuric acid which is in dissolved state and becomes water. The
discharge process is carried out by the conduction of electrons from the negative electrode
back into the cell at the positive electrode in the external circuit.

ot Wiet 38t 71 As-uRE §e, Ua USR &I Rarsiad §edt & ik Iy Faf Wsror Iuawul # F e &
S Tergfie vs &1 3ughT fvar ST B

RRETS & R, IHRTHS 3R THRTAHS < saide’s s (1) Tobe §9 310 8| Saderdlse 370 fawier
TR TS &Y @t a1 & St Wi 3rawyt # grar & 3R urit 9 ST 81 a7edt afdhe # geRTES saags W
THRTHS SATLIS T a0 Ao H saei-l & UdTedd gRT AdeT ufehar &) e fear Srar g1

Negative plate reaction: Pb(s)+HSO4-(aq)—>PbSO4(s)+H+(aq)+2e-

Positive plate reaction: PbO2(s)+HSO4~(aq)+3H+(aq)+2e-—>PbSO4(s)+2H20(l)

72. lodised salt contains
SITTE @dur gaT &

a) Free iodine/ geh maTEN

b) Calcium iodide/ HfRTH JMANEES

c) Magnesium iodide/ #fifraw smaEEs

d) None of the above/ &8 @ &g T 981
lodized salt is salt that contains small amounts of sodium iodide or potassium iodide. It's
normal salt that has been sprayed with potassium iodate. It looks and tastes the same.
STOEN geh 90 98 U 81dT & forad AITSTH TISIES IT Ui ISTss &t A1t 9 gidl 81 T8
I 79 ¢ o8 tiefry smiEe & Ary st waT €1 UE U S fezaar @ ok @ aar .

73. Which one of the following acids is produced in human stomach?
fufafaa & @ o a1 eret 7THa & AT & Iaua gar 87

a) Formic acid/ wiffies Tfas

b) Hydrochloric acid/ gTggiawR® Tfag

c) Nitric acid/ =Tsfe® s

d) Citric acid/ ¥Tsfes vfiis
Concentrated hydrochloric acid is produced in our stomach which is lined with a mucus
membrane which protects the inner wall of stomach. It is produced in excess acidity, ulcer,
inflammation in stomach are observed.
AR Ue & Fifed grsgiaiiRe Tfds s9dT 8§ St U TEHY AT T gl &1dT & i O &l fiadt Sar & e
AT &1 Tg IfAF 31eeAdT B I €T &, TR, U H Gord <t vt &
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74. Which of the following will replace hydrogen from acids to form salt?
Rufafed # 3 9 3 A gTSSIo &) SaddR THS SHTUIT?
a) S
b) Na
c) Ag
d) P
Sodium replaces two hydrogen atoms from Sulfuric acid (H2SO4) to form a normal salt, Sodium

Sulphate (Na2S04). If only one atom of hydrogen is replaced by sodium, it forms an acid salt,
Sodium Hydrogen Sulphate (NaHSO4).

T Ua AT 96, JaH Tethe (Na2S504) §9H & v JeagRa tfis (H2S04) & 2F grggio
RT3 6t e AdT 1 TS 8T8 & Sdol Ve AT & Afeaw grT ufawaifia far Smar &, @Y 78 wa
3T oIquT, WU ETESIo Tihe (NaHSO4) §91dT 21

75 At what pH value tooth starts to decay?
i f&g pH A9 @R T @raT 82

a) 1.2

b) 6.5

c) 5.5

d) 7.5
When the pH in the mouth falls below 5.5, tooth decay starts. Bacteria present in the mouth
produce acid by degradation of sugar and food particles which remain in the mouth after eating.
The acid produced in the mouth attack the enamel thereby, creating tooth decay.
59 gg o divg 5.5 F R iR 311 ], oY gfdl & T3 OF & St 1 g # wHise sedifar i+t ik @ st
P &rUT ¥ U TaT IR & S WA & 91 4§ § € o1 81 Hg # 9 aTel1 TS $90 R 0T BT 8, foasy
el Y TS Bl &

76. The buffer action of blood is due to the presence of -
6 & IUR foraT frud 3uf@fa & FroT g & -

a) HCl and NaCl

b) Cl and CO*,

c¢) Cl and HCO

d) HCO' and H,COs
Human blood contains a buffer of carbonic acid (H2CO3) and bicarbonate anion (HCO3-) in
order to maintain blood pH between 7.35 and 7.45, as a value higher than 7.8 or lower than 6.8
can lead to death. In this buffer, hydronium and bicarbonate anion are in equilibrium with
carbonic acid. Furthermore, the carbonic acid in the first equilibrium can decompose into CO2
gas and water, resulting in a second equilibrium system between carbonic acid and water.
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Because CO2 is an important component of the blood buffer, its regulation in the body, as well
as that of O2, is extremely important. The effect of this can be important when the human
body is subjected to strenuous conditions.

A4 b H ST Ui (H2C03) 3R sTgareie 3 (HCO3-) &7 Te 90 &IdT &, foa) 36 &1 v
7.35 3R 7.45 & 19 §97 &1 8, TP $HHT AIF 7.8 T IS U7 6.8 T FH &1 W g &1 APl 8| $H IUR
#, gregiffuy 3R SIEHEe 3T FHIEid U & 1Y o # 81 3T& STdT, Uge Adad § SraiHd
s CO2 T 3Rk gt & fdufed g Iehar 2, forws uRumRasy sEiae ufig ik url & &9 v gavr
T TUTTAt 7 STt 81 Fifs CO2 37 IR &1 Ush Heaqul Uead g, RR B gaaT fAgws, arg € ary 02
Y 3Tid HEaqul 81 SHHT UHTT 79 HEaqul &1 HHdT & JTe A RR Hiod aRfAfATT & srefiq &7

77. The pH value of wine is -
qTg & pH A &l 8-
a) 6.5
b) 2.8
c) 85
d) 7.2
pH values range from 2.9 to 4.2 in wine. Wine's chemical and biological stability are very
dependent on pH value. Lower pH values are known to improve the stability, so winemakers

usually prefer a pH range of 3.0 to 3.5.
ars< e A1 2.9 A 4.2 9 g1dT 81 a18 & IR 3R Hfae f&Rar fiog o R 5gd AR &1 59
fiog A f&Rar # gurR & fav S 37 €, safaw argTdeRr mak W 3.0 ¥ 3.5 & fiug ¥ wie aRva B

78. A mixture of concentrated nitric acid and concentrated hydrochloric acid in the ratio of
_______ is called Aqua-Regia.
gig Tsfed areT IUT Tig ESIawIRG 3 & 31uTd # ST & vaar-Xoar #ga &
a) 3:1
b) 1:2
c) 2:3
d) 1:3
Aqua regia is a mixture of concentrated nitric acid and concentrated hydrochloric acid, optimally
in a molar ratio of 1: 3. It is a yellow-orange fuming liquid and was so named because it can
dissolve the noble metals gold and platinum.
Tera Yo g Aefes ufis 3tk Tig eTsgiawiRe Uflis & fAgor ], S % 1: 3 & T1e 3rguTd § SeR 81 T8
e Wiad-IRe T Rt & 3R ST 719 $9fav a1 7T Uife T8 TE uTgsei & AN SR wifead & o
T ST B

79. If the pH of a salt is zero, itisasaltof _________
afe AqUI ST pH eI e, T8 _________ P @G ¢
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Strong acid and weak base / s 3+ 3R gl &R

weak acid and strong base / goid 3+ 3R Ude &R

Strong acid and strong base /USe 3T 31R TS &R
Weak acid and weak base / geig 377 3iR goig &R

a)
b)
c)
d)

80. Which acid is used in cola to give it a biting sharp taste
HIT B RAT TG & F T {67 a1t &1yt v Smar 872
a) Sulphuric acid (H2S04)/ T fke 317 (H2S04)
b) Carbonic acid / FTEiR® TAS
c) Phosphoric acid/ Biepie TfE
d) Citric acid/ @msfes vfis
Carbonic acid(H,CO3) is used in cola to give it a biting sharp taste.
FIeT | FIeifAe TR (H,CO3) &1 ITaT g4 dRaT Wie 3 & faw favar St 21
Phosphoric acid is the acid that gives cola its tartness/ BihIRe TS a8 TS & ST HielT dr
Frarg= gar &

81. Butyric acid is found in
FfeRes et araT ST @
a) Rancid butter/ ST AaRaT
b) Rancid cake/ IRt &%
c) Stings of bees/ AYAfRITT HT H
d) Al of these/ T It

Butyric acid is a typical carboxylic acid that reacts with bases and affects many metals. It is
found in animal fat and plant oils, bovine milk, breast milk, butter, parmesan cheese, body
odour, vomit, and as a product of anaerobic fermentation (including in the colon).

fefe tfde vs fafde sifasias e & o &Y & ary ufafesar axdar @ sk &8 argsit & uwifad awar
21 T8 U] 79T 3R Tteit & Ae, M 4, I g8, TaRa, AT TR, R &Y e, I, 3k TIRIfAs
fhuaT (Feer= Tfed) & IauTe & ¥9 § UTar 7T B

82. Which of the following salts does not contain water of crystallization?
frafafad & @ f&a @aor § fsweaaror &1 arh 78t g 82
a) Blue vitriol/ & fafege
b) Baking soda/ Sfd HisT
c) Washing soda/ atfit &rsr
d) Gypsum/ oy
Baking soda is sodium bicarbonate in anhydrous form without any water of crystallisation and
it is widely used as dry fire extinguisher because of its alkali nature.
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SfTT et foT fhecianur & ol & fAoie 0 & 3T SIEdhEie & 3R SUD! &R UPd & HRUT 3T
TOE F F 6 SAMTAS & FT H T fasar Sar g

83. Methyl orange is
[ERIECICIRE N
a) Pink in acidic medium, yellow in basic medium/ 31T ATeqd ¥ TeTel, &R TTeqd o et
b) Yellow in acidic medium, pink in basic medium/ 3T aTerd & W, &ty ATery d Jardt
c) Colourless in acidic medium, pink in basic medium/ 3Tctg ATery & WTEH, &R Areny &
ATt
d) Pink in acidic medium, colourless in basic medium/ 3TF1T HTeqH H T[Tdll, &I ATEqH &
TTEH |

84. Phenolphthalein’s colour in basic mediumis ____butin acid itis ______ .
§R® AT H BAleh AT &1 T
a) Pink, Colourless / TaTdl, {T&H

b) Yellow, Pink/ dYaT, T[erell

c) Pink, Orange/ T[eTdl, AT

d) Blue, Red/ sfeT, |1
Indicator Colour of indicator in

Acid Base/alkali Neutral

Litmus paper/solution Red Blue Colourless
Methyl orange Red Yellow Red
Screened methyl orange | Purple Orange Orange
Phenolphthalein Colourless Purple Colourless
Bromothymol blue Orange Blue Orange

85. Wasp sting contains:

qdar 36 o e &

(a) A sugar solution / T T FaTE
(b) An acidic liquid / T& 3TFIT TRl
(c) A salt solution / U THE &T Ot
(d) An alkaline liquid / T& &g &R

86. One of the following does not inject an acidic liquid into the skin through its sting. This is:

g 3 3 v 9T § T T TRl Y IS S & Hrend J U TEl T g1 T8
(a) Honey bee / AgaaRd
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(b) Ant / =it
(c) Wasp / adar
(d) Nettle leaf hair / SeaT =il §TT

87. A solution turns red litmus blue. Its pH is likely to be:

Teh fAeTT ofTel T T el R a1 81 $HBT T g1 &Y HHTeT 8
(a)1

(b) 4
Q)5
(d) 10

88. A solution turns blue litmus red. Its pH is likely to be:

U e dr faeaa |1 g1 a1 21 59T " g1 &Y AHTaT 2:
(a) 7

(b)
(c)8
(d) 14

5

89. A solution turns phenolphthalein indicator pink. The most likely pH of this solution will be?
T e fharecia dde & et 31 8 9ed a7 & 39 faera &1 ged durfad diewr? ghm:

(a) 6

(b) 4

(c) 9

d)7

90. The colour of methyl orange indicator in a solution is yellow. The pH of this solution is
likely to be?
o fames § frursd Siivet Adde o1 01 UieT 81 SaTe | $9 fa@a &7 pH 89 &t dvraar 87
a)7
(b) Less than 7
c)o
(d) More than 7

91. Bee stings can be treated with:
TYIRAT & TF $I TSl [hAT ST AHdT &:
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(a) Vinegar / faRaT

(b) Sodium hydrogencarbonate / HIf3TH gTggISH HIEiHC
(c) Potassium hydroxide / Giefad grggiaTss

(d) Lemon juice / g &1

92 Wasp stings can be treated with:
qATT & EF A FATST (AT ST THaT 8
(a) Baking soda / sfd &rsT

(b) Vinegar / f&Repr

(c) Washing soda / arfai &ret

(d) Milk of magnesia / AUfaT &1 gy

93. It has been found that rubbing vinegar on the stung area of the skin of a person gives him
relief. The person has been stung by:

el sufeh T e & T W R RS 7 7187 A I 3R FAear 81 afeh 3 ... .gRT S ART 1T &:
a) Wasp / adar

b) Ant / =it

c) Honey bee / T8¢ AYHRAT

d) Nettle leaf hair / fo<g §& & a1t

94. Fresh milk has a pH of 6. When milk changes into curd, the pH value will:
AT g4 &7 pH 6. BT & o190 g¥ €&l § 9&adT 8, df pH A9 &I

a) Become 7/ 7 @Y ST &

b) Become less than 6 / 6 & &H

c) Become more than7/ 6 @ &H

d) Remain unchanged / 6 & &H

95. The acid produced naturally in our stomach is:
&R U # W@raTfas $U F Iarfed ufis ?:

a) Acetic acid / Tfafes Tfis

b) Citric acid / asfes w@s

c) Hydrochloric acid / gTsgidw@R® ufag

d) Sulphuric acid / IR TfE
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